
1812-1022-REV 41812-1022-REV 4

Postal Products Unlimited, Inc. 
Also Manufactures Cluster Box Units and

4C Standard Horizontal Mailboxes

Free standard shipping on orders over $5,000 in the Continental USA.
Call Paul Orta direct at 414-290-1067 for product & design assistance.

Colonial,1812, Estate, & 1092 Mailbox Line

N1021784M___The Augusta
N1019813M___The Birmingham
N1026020M___The Donan
N1025904M___The Brunswick
N1021785M___The Beaumont
N1026221___The Boulder
N1026014___The Norwich
N1025903___The Richmond
N1021781___The Riverside
N1021788___The Carrington
N1026021___The Warwick
N1025899___The Baton Rouge
N1021954___The Somerset
N1019805___The Everette
N1026013___The Durham
N1025902___The Altair
N1021783___The Cape Charles
N1025595___The Monroe
N1026018___The Bailey
N1025898___The Wilkes

N1021777___The Longmont
N1026034___The Rosedale
N1026019___The Wilton
N1025901___The Dixon
N1021778___The Tallahasse
N1019806___The Salem
N1026015___The Wales
N1025900___The Abbot
N1021955___The Port Angeles
N1019815___The Sarasota
N1026017___The Caterbury
N1025906___The Oak Hill
N1021782a__The Columbus
N1019809___The Tuscon
N1026022___The Visby
N1025905___The Delta
N1021775___The New Hampton
N1026035___The Oakridge
N1028186___The Glastonbury
N1025908___Potterfield

N1021776___The Montgomery
N1025292___The Eastport
N1026025___The Alderbury
N1025907___The Lawrence
N1024986___The Park Ridge
N1026265___The Westport
N1026024___The Nevern
N1025909___Estate Post
N1024987___The Sutherland
N1027935___The Washburn
N1026023___The Camrose
N1023734___The Newport
N1027936___The Underwood
N1024984___The Buckhorn
N1027936___The Underwood
N1024985___The Greensville
N1027935___The Washburn
N1026033___The Carthage
N1023735___The Port Hill
N1023789___The Morganton

500 West Oklahoma Ave.
Milwaukee, WI 53207-2649
info@postalproducts.com
www.mailproducts.com
Phone: 800-229-4500
Fax: 800-570-0007

INSTALLATION &
ASSEMBLY MANUAL

N1011007
4B+ Horizontal Mailbox

(23 Door)

N1029415
4C Horizontal Mailbox

(20 Door)

N1029595
Type II CBU with Pedestal

(12 Door)

Call us for a free Mailbox and Postal 
Specialties catalog, or view on line at 

www.mailproducts.com



Page 1 Page 301812-1022-REV 41812-1022-REV 4

Congratulations on your purchase of a
Colonial/1812/1092/Estate mailbox system.

Upon receiving your order, please inspect your merchandise for potential freight damage or missing parts. 
Using the component pages in this manual, double check to ensure that you have everything that you are 
supposed to have. If you are missing anything, please call our customer service department immediately at 
800-229-4500.

This user manual cover installation and assembly instructions for the following proprietary product lines of 
Postal Products Unlimited.

• 1812 Series

• Colonial Series

• 1092 Series

• Estate Series

The 1812 & 1092 mailboxes, as well as the Washington style posts are made from rotationally molded 
plastic with UV inhibitors to prevent color fading.

Each newspaper tube and all bracketing is made from galvanized steel that is powder coated to a smooth, 
semi-gloss finish.

Hardware included, such as the lock nuts, bolts, and threaded inserts are made of stainless steel or               
aluminum, treated with a rust resistant finish.

For full size drawings, photos, and detailed product information, visit our website at:

www.mailproducts.com

We also carry United States Postal Service approved 4-C mailboxes and the new F-Spec C.B.U., as 
well as a full selection of residential and commercial mailboxes. For custom or quantity quotations, 
or to reach our skilled customer service team please call us at: 800-229-4500.

FREIGHT DAMAGE

Damaged or lost merchandise claims must be filed with the carrier within 10 days of receipt of 
goods. Once the product leaves any of our warehouses it becomes property of the customer. Please 
follow these steps when receiving products.

1. Check your piece counts. If you are short a product or package, be sure to list it 
	 on the carriers delivery receipt.

2. Give a detailed inspection for damage. If the carton even appears to be damaged 
	 anywhere, make sure to open and inspect goods thoroughly. If there is damage, 
	 note it on the delivery receipt and call our customer service department
	 immediately.

RETURNS

No returns will be accepted without a return authorization #. Please call our customer service depart-
ment with return request. If the product shipped is the product ordered, we may request a restock-
ing fee up to 50%. Some custom products are not returnable. All returns must be shipped back at 
customer’s expense unless otherwise agreed upon.

Postal Products Unlimited, Inc.
500 W. Oklahoma, Ave.

Milwaukee, WI 53207-2649

Phone: 800-229-4500
Local Phone: 414-290-1500

Fax: 800-570-0007
Local Fax: 414-290-1515

www.mailproducts.com



Page 29 Page 21812-1022-REV 41812-1022-REV 4

Contents

Post Installation Instructions	 Page

Direct Burial Installation of Washington / Estate / Senator Post................................................... 3

Surface Mount Installation Upgrade for Washington Post............................................................ 4

Front Mount / Full Post Option ......................................1812 / 1092 / Colonial ......................... 5

Side Mount / Full Post Option ........................................1812 / 1092 / Colonial ......................... 6

Top Mount Rail Kit ..........................................................1812 / 1092 / Colonial ..........................7

Top Mount Single .......................................................... 1812 / 1092 / Colonial ..........................8

The Quad Mount ........................................................... 1812 / 1092 Series Only ........................9

The Carrington ................................................................. Colonial Series Only .........................10

The Morganton .................................................................. 1812 Series Only ............................11

Front Mount Estate ............................................................. Estate Series Only ..........................12

Side Mount Estate .............................................................. Estate Series Only ...........................13

Installation of Carriage Light ......................................... 1812 / 1092 /  Colonial........................14

Complete Component Listings Per Mailbox Option............................................................. 15 - 28

Limited Warranty Information ..................................................................................................... 29

Assembly Instructions Applicable to:

Postal Products Unlimited, Inc. products are guaranteed in material and workmanship to the original 
purchaser for a period of one year from the date of product shipment. 
Postal Products Unlimited’s obligations under this warranty are expressly limited to the repair or replace-
ment of any unit or component part, which is at the sole discretion of Postal Products Unlimited. All 
products must be returned to Postal Products Unlimited at the customer’s expense with prior authorization 
from Postal Products Unlimited. Postal Products Unlimited’s obligation shall in no event 
include damage resulting from transportation, mishandling, neglect, misuse, acts of nature or vandalism.

* Improper installation will void this warranty.

LIMITED WARRANTY

Postal Products Unlimited, Inc.
500 West Oklahoma Ave.*  Milwaukee, WI 53207-2649

info@postalproducts.com / www.mailproducts.com
Phone: 800-229-4500  *  Fax: 800-570-0007

MAINTENANCE:

Product is not maintenance free.  

Regarding steel-based product:  Cracks in the paint, salt spray, road salt, and excessive UV rays could 
cause corrosion or deterioration of tubes, scrolls, brackets, etc.

Extended life components are available (stainless steel), but are a separate purchase.  However, sun, 
weather, road chemicals etc, still adversely affect plastic, finish, and materials of extended life components.

It is the purchaser’s responsibility to regularly inspect the mailbox system for deterioration of components, 
finishes or hardware. Treat product or replace components immediately upon noticing deterioration or 
damage.  All components are available for sale directly from factory or authorized distributor.

Surfaces with corrosion can be treated with rust inhibiting paint.  Corrosion should be removed with steel 
wool and surface treated before painting.  

Replace hardware when finish deteriorates.  Hardware can be treated with silicone spray or lubricant to 
combat corrosion issues.  Hardware and components that are not replaced when deterioration occurs can 
cause additional oxidational discoloration of other components. 



Page 3 Page 281812-1022-REV 41812-1022-REV 4

*** This installation procedure pertains to all models of Washington, Estate, and Senator 
posts that require direct burial installation.

Items Needed: (not included)
	 • (2-3) 20 lb. bags of ready mix concrete per post
	 • (1) Strap Level (can be purchased at any hardware store for approximately 2-3 dollars)
	 • (1) Shovel (spade) or auger
	 • (1) Sturdy stick to stir concrete
	 • (*) Approximately (1) gallon of water per 20 lb. bag of ready mix concrete (see concrete
		  mfg. instructions)

Before Installation:
*** WARNING: Check with local utility companies for location of underground utility lines
      (electrical, gas, water, etc).
*** CHECK with your local postal authority for location and placement of mailbox posts.

(STEP 1) Dig your hole approximately 13"W x 30"D, being certain to dig below frost line (frost line depth may vary 
with geographic soil conditions). Insert Washington post into hole periodically to test the depth in relation to the base 
of the post. 

(STEP 2) Loosen wing nut. Remove bolt and wing nut from bottom. Remove Inner steel post and flip over. Insert back 
into outer steel post. Reattach bolt and tighten wing nut to keep together.

(STEP 3) Pour concrete into hole and insert post. Push the post into the concrete so plastic base is submerged 1/2" 
- 1 inch.

(STEP 4) With Washington/Estate/Senator Post placed inside hole, use strap leel to verify post is plumb and wait for 
concrete to set per concrete manufacturing instructions.

(STEP 5) Wipe excess concrete away from post areas with water and a towel/rag.

Installation:

In-Ground Installation of Washington/Estate/Senator Post
GROUP SEQ

COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Estate Series The Delta N1025905
43 N1025892 Estate Series Post - 84" (7") - Black 1
53 N1004697 Medium Size Rural Mailbox 1
18 N1023719 Sunday Newspaper Tube 1
28 N1026753 Estate Series Bracket 1
15 N1019748 Single Address Scroll 1
38 N1025894 Estate Series Deck Light 1
44 N1025896 Estate Series Aluminum Post Skirt 1
31 N1028063 1/2" Black Stainless Steel Bolt 8
32 N1028064 3/4" Black Stainless Steel Bolt 6
57 N1028068 Stainless Steel Threaded Inserts 5
36 N1028067 Nut - Black Stainless Steel 9

GROUP SEQ
COMPONENT 

MODEL # COMPONENT DESCRIPTION
QUANTITY  

PER ASSEMBLY

Estate Series The Porterfield N1025908
43 N1025892 Estate Series Post - 84" (7") - Black 1
53 N1004697 Medium Size Rural Mailbox 2
18 N1023719 Sunday Newspaper Tube 2
28 N1026753 Estate Series Bracket 2
39 N1025897 Pyramid Post Top for Estate 1
44 N1025896 Estate Series Aluminum Post Skirt 1
57 N1028068 Stainless Steel Threaded Inserts 8
32 N1028064 1/2" Black Stainless Steel Bolt 16
31 N1028063 3/4" Black Stainless Steel Bolt 8
36 N1028067 Nut - Black Stainless Steel 16

GROUP SEQ
COMPONENT 

MODEL # COMPONENT DESCRIPTION
QUANTITY  

PER ASSEMBLY

Estate Series The Lawrence N1025907
43 N1025892 Estate Series Post - 84" (7") - Black 1
53 N1004697 Medium Size Rural Mailbox 2
18 N1023719 Sunday Newspaper Tube 2
28 N1026753 Estate Series Bracket 2
38 N1025894 Estate Series Deck Light 1
44 N1025896 Estate Series Aluminum Post Skirt 1
31 N1028063 1/2" Black Stainless Steel Bolt 8
36 N1028067 Nut - Black Stainless Steel 16
32 N1028064 3/4" Black Stainless Steel Bolt 16
57 N1028068 Stainless Steel Threaded Inserts 8

HARDWARE

HARDWARE

HARDWARE

Estate Series



Page 27 Page 41812-1022-REV 41812-1022-REV 4

Before Any Installation	
	 • WARNING:  Check with local utility companies and Diggers Hotline for location of underground 
	      utility lines (electrical, gas, water, etc.)	
	 • CHECK with your local postal authority for location and placement of mailbox posts.	
	 • Requires:  Customer supplied mounting bolts
	                     Customer is responsible for concrete pad

Optional Surface Mount Upgrade For Washington Post

The surface mount option was designed with the property developer in mind.  With this upgrade, the concrete 
pads can be poured by the development’s mason at the time the driveways and patios are being poured.  
When the concrete pad is poured, (4) bolts are placed into the wet concrete with threads exposed (see 
bolt placement dimensions below).  When you are ready to install your mailbox, simply place the fully  
assembled post over the (4) bolt threads, and spin on the lock Nuts.  Your post installation is complete. 

20”

17

20”

17

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Estate Series The Wilkes N1025898
N1025892 Estate Series Post - 84" (7") - Black 1
N1021786 1812 Mailbox 1
N1023719 Sunday Newspaper Tube 1
N1026753 Estate Series Bracket 1
N1019748 Single Address Scroll 1
N1025894 Estate Series Deck Light 1
N1025896 Aluminum Post Skirt 1
N1020039A Stainless Steel Threaded Inserts 5
N1028067 Nut - Black Stainless Steel 9
N1028063 1/2" Black Stainless Steel Bolt 4
N1028064 3/4" Black Stainless Steel Bolt 10

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Estate Series The Dixon N1025901
N1025892 Estate Series Post - 84" (7") - Black 1
N1021786 1812 Mailbox 2
N1023719 Sunday Newspaper Tube 2
N1026753 Estate Series Bracket 2
N1025897 Pyramid Post Top For Estate 1
N1025896 Estate Series Aluminum Post Skirt 1
N1028064 1/2" Black Stainless Steel Bolt 15
N1028063 3/4" Black Stainless Steel Bolt 8
N1028067 Nut - Black Stainless Steel 16
N1028068 Stainless Steel Threaded Inserts 8

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Estate Series The Abbot N1025900
N1025892 Estate Series Post - 84" (7") - Black 1
N1021786 1812 Mailbox 2
N1023719 Sunday Newspaper Tube 2
N1026753 Estate Series Bracket 2
N1025894 Estate Series Deck Light 1
N1025896 Estate Series Aluminum Post Skirt 1
N1028063 1/2" Black Stainless Steel Bolt 8
N1028064 3/4" Black Stainless Steel Bolt 16
N1028068 Stainless Steel Threaded Inserts 8
N1028067 Nut - Black Stainless Steel 16

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Estate Series The Oak Hill N1025906
N1025892 Estate Series Post - 84" (7") - Black 1
N1004697 Medium Rural Mailbox 1
N1023719 Sunday Newspaper Tube 1
N1026753 Estate Series Bracket 1
N1019748 Single Address Scroll 1
N1025897 Pyramid Post Top For Estate 1
N1025896 Estate Series Aluminum Post Skirt 1
N1028068 Stainless Steel Threaded Inserts 5
N1028063 1/2" Black Stainless Steel Bolt 8
N1028064 3/4" Black Stainless Steel Bolt 6
N1028067 Nut - Black Stainless Steel 9

HARDWARE

HARDWARE

HARDWARE

HARDWARE

Estate Series

Pad bolt dimensions



Page 5 Page 261812-1022-REV 4 1812-1022-REV 4

Applicable to: Weston, Augusta, Cape Charles, Beaumont,
 Donan, Alderbury, Nevern 

Tools Needed (not provided)

• 7/16” socket or adjustable wrench (7/16” socket is preferable)
• Phillips screw driver
• No Drilling is required (all necessary mounting holes have been pre-drilled at factory)
• All necessary hardware is provided (i.e. stainless steel Nuts & bolts)

Assembly Instructions For Single Front Mount, Full Post Option

Attach the mailbox to the newspaper tube using the (4) 
3/4” x 1/4-20 bolts and (4) nylock Nuts per box. If your 
mailbox style does not use newspaper tubes, skip ahead 
to the next step.

Fasten the 1812 brackets (X in shape) to the back of the 
newspaper tube utilizing the (4) 1/2” x 1/4-20 bolts & (4) 
nylock Nuts. Use the (4) existing predrilled holes. When 
finished, these brackets will wrap half way around the post. 
If your mailbox option does not use a newspaper tube, the 
1812 brackets (X in shape) will attach with (4) predrilled 
holes on the back of the 1812 mailbox.

(The Cape Charles option does not use a newspaper tube).

3-A.) Attach (1) back bracket to one side of each of the (2) 
1812 (X shape) brackets using (2) 1-1/2” x 1/4 - 20 bolts 
and (2) nylock Nuts.

3-B.) Bring the entire mailbox unit to the front of the post 
and fasten the other side of the brackets around the post and 
to each of the 1812 brackets using the remaining (2) 1-1/2” 
x 1/4-20 bolts and (2) nylock Nuts.

4-A.) Attach the address scroll to the bottom of the news-
paper tube using the provided 3/4” x 1/4-20 bolt and (1) 
nylock Nut. The newspaper tube has a predrilled hole that 
is slotted for easy adjustment for height of the mailbox on 
the post.

(The Augusta and the Nevern do not use an address scroll).

4-B.) Use the remaining (1) 3/4” x 1/4-20 bolt to attach the 
bottom of the address scroll directly to the post. A threaded 
stainless steel insert is already in the post for this purpose.

(The Augusta and the Nevern do not use an address scroll).

1

2

3

4

Figure 3-A Figure 3-B

Figure 4-A Figure 4-B

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Estate Series The Brunswick N1025904

N1025892 Estate Series Post - 84" (7") - Black 1

N1021786 1812 Mailbox 1

N1025896 Estate Series Aluminum Post Skirt 1

N1028071 Rosedale Bracket 1

N1028064 3/4" Black Stainless Steel Bolt 4

N1028067 Nut - Black Stainless Steel 4

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Estate Series The Richmond N1025903
N1025892 Estate Series Post - 84" (7") - Black 1
N1021786 1812 Mailbox 1
N1026753 Estate Series Bracket 1
N1019748 Single Address Scroll 1
N1025897 Pyramid Post Top for Estate 1
N1025896 Estate Series Aluminum Post Skirt 1
N1028064 3/4" Black Stainless Steel Bolt 6
N1028063 1/2" Black Stainless Steel Bolt 4
N1028067 Nut - Black Stainless Steel 5
N1028068 Stainless Steel Threaded Inserts 5

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Estate Series The Baton Rouge N1025899
N1025892 Estate Series Post - 84" (7") - Black 1
N1021786 1812 Mailbox 1
N1023719 Sunday Newspaper Tube 1
N1026753 Estate Series Bracket 1
N1019748 Single Address Scroll 1
N1025897 Pyramid Post Top for Estate 1
N1025896 Estate Series Aluminum Post Skirt 1
N1028064 3/4" Black Stainless Steel Bolt 6
N1028063 1/2" Black Stainless Steel Bolt 8
N1028067 Nut - Black Stainless Steel 9
N1028068 Stainless Steel Threaded Inserts 5

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Estate Series The Altair N1025902
N1025892 Estate Series Post - 84" (7") - Black 1
N1021786 1812 Mailbox 1
N1026753 Estate Series Bracket 1
N1019748 Single Address Scroll 1
N1025894 Estate Series Deck Light 1
N1025896 Estate Series Aluminum Post Skirt 1
N1028068 Stainless Steel Threaded Inserts 5
N1028067 Nut - Black Stainless Steel 5
N1028063 3/4" Black Stainless Steel Bolt 4
N1028064 1/2" Black Stainless Steel Bolt 6

HARDWARE

HARDWARE

HARDWARE

HARDWARE

Estate Series



Page 25 Page 61812-1022-REV 41812-1022-REV 4

Applicable to: Monroe, Tallahasse, Columbus, Port Angeles,
Warwick, Camrose, Riverside

Tools Needed (not provided)

• 7/16” socket or adjustable wrench (7/16” socket is preferable)
• Phillips screw driver
• No Drilling is required (all necessary mounting holes have been pre-drilled at factory)
• All necessary hardware is provided (i.e. stainless steel Nuts & bolts)

Assembly Instructions For Double Side Mount, Full Post Option

Attach mailboxes to the newspaper tubes using the (4) 3/4” 
x 1/4-20 bolts and (4) nylock Nuts per box. If your mailbox 
style does not use newspaper tubes, skip ahead to the next 
step.

Fasten the 1812 brackets (X in shape) to the back of the 
newspaper tube utilizing the (4) 1/2” x 1/4-20 bolts & (4) 
nylock Nuts. Use the (4) existing predrilled holes. When 
finished, these brackets will wrap half way around the post 
where they will meet with the 1812 brackets from the 2nd 
newspaper tube.

If your mailbox does not use newspaper tubes, the 1812 
brackets (X in shape) will attach with (4) predrilled holes 
directly to the side of the 1812 mailbox.
(The Tallahasse option does not use a newspaper tube) 

Bring each of the (2) complete mailbox units up to the op-
posite side of the post and fasten the two pairs of 1812 
brackets to each other using the remaining (4) 1-1/2” x 
1/4-20 bolts and (2) nylock Nuts. Adjust for height, and 
tighten into place.

If your mailbox uses address plates, these can now be at-
tached using (2) 1/2” x 1/4-20 bolts and (2) nylock Nuts per 
address plate. At the bottom of each newspaper tube are two 
sets of predrilled holes allowing for an assembly that is per-
pendicular or parallel to the direction of the newspaper tube. 

1

2

4

5

3 4

3

5413 

5413 

GROUP
COMPONENT 

MODEL # COMPONENT DESCRIPTION
QUANTITY  

PER ASSEMBLY

1092 Series The Visby N1026022

N1023820L Washington Post w/ 3" Support Pole 1

N1026045 1092 Mailbox 4

N1026241 1092 Newspaper Tube 4

N1023802 Port Hill Bracket 2

N1028064 3/4" Black Stainless Steel Bolt 40

N1028066 1-1/2" Black Stainless Steel Bolt 8

N1028067 Nut - Black Stainless Steel 44

GROUP
COMPONENT 

MODEL # COMPONENT DESCRIPTION
QUANTITY  

PER ASSEMBLY

1092 Series The Camrose N1026023

N1027535 French Courtyard Post - Black #115 1

N1026045 1092 Mailbox 2

N1026241 1092 Newspaper Tube 2

N1025065 Carriage Light w/ Beveled Glass, 120 V, Bl 1

N1023699 1812 Bracket 4

N1028066 1-1/2" Black Stainless Steel Bolt 4

N1028063 1/2" Black Stainless Steel Bolt 8

N1028064 3/4" Black Stainless Steel Bolt 8

N1028067 Nut - Black Stainless Steel 20

GROUP
COMPONENT 

MODEL # COMPONENT DESCRIPTION
QUANTITY  

PER ASSEMBLY

1092 Series The Nevern N1026024

N1027535 French Courtyard Post - Black #115 1

N1026045 1092 Mailbox 1

N1024982 1092 Newspaper Tube 1

N1023699 1812 Bracket 2

N1021101A Back Bracket 2

N1025065 Carriage Light w /Beveled Glass, 120V, Bl 1

N1028066 1-1/2" Black Stainless Steel Bolt 4

N1028064 3/4" Black Stainless Steel Bolt 4

N1028063 1/2" Black Stainless Steel Bolt 4

N1028067 Nut - Black Stainless Steel 12

GROUP
COMPONENT 

MODEL # COMPONENT DESCRIPTION
QUANTITY  

PER ASSEMBLY

1092 Series Glastonbury N1028186

N1023720 Washington Post 1

N1024981 Rail Kit Mounting Pole (55") 1

N1027982 1092 Triple Rail Kit 1

N1026045 1092 Mailbox 3

N1026241 1092 Tube 3

N1028066 1-1/2" Black Stainless Steel Bolt 6

N1028064 3/4" Black Stainless Steel Bolt 18

N1028072 3-1/2" Black Stainless Steel Bolt 2

N1028067 Nut - Black Stainless Steel 26

HARDWARE

HARDWARE

HARDWARE

HARDWARE

1092 Series



Page 7 Page 241812-1022-REV 4 1812-1022-REV 4

Assembly Instructions For Top Mount Rail Options (double, triple, and quad)

Tools Needed (not provided)

• 7/16” socket or adjustable wrench (7/16” socket is preferable)
• Phillips screw driver
• No Drilling is required (all necessary mounting holes have been pre-drilled at factory)
• All necessary hardware is provided (i.e. stainless steel Nuts & bolts)

1
With the post securely mounted into the ground with con-
crete, place the horizontal rail onto the post. When done 
correctly, the (2) predrilled mounting holes will line up 
perfectly.

2 Attach the rail to the post using the provided (2) 3-1/2” x 
1/4 -20 stainless steel bolts and (2) nylock Nuts.

3
Attach mailboxes to the newspaper tubes using the (4) 
3/4” x 1/4-20 bolts and (4) nylock Nuts per box. If your 
mailbox style does not use newspaper tubes, skip ahead 
to step 4.

4

4-A.) Using (4) 3/4” x 1/4-20 screws and (4) nylock Nuts, 
attach the newspaper tubes directly to the horizontal rail. 
If your mailbox style does not use newspaper tubes, use 
the bolts to attach directly to the horizontal rail through the 
predrilled holes in the mailbox.

4-B.) If your mailbox style uses medium size rural mail-
boxes, acrylic mounting plates will be provided instead. 
Using self-tapping screws, attach mailboxes to these 
plates before next step.

5
At this time, if optional address plates were ordered they 
can be installed to the rail below each mailbox or tube 
using the predrilled holes and (2) 3/4” x 1/4-20 bolts & 
(2) nylock Nuts.

Applicable to: Washburn, Underwood, Salem, Montgomery, Buckhorn, Wales,
Park Ridge, Greenville, Sutherland, Carthage, Glastonbury, Canterbury 

Figure 4-A Figure 4-B

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1092 Series The Bailey N1026018

N1023720 Washington Post 1

N1026241 1092 Newspaper Tube 1

N1026045 1092 Mailbox 1

N1026439 Universal Top Mount Post 1

N1028064 3/4" Black Stainless Steel Bolt 4

N1028063 1/2" Black Stainless Steel Bolt 4

N1028067 Nut - Black Stainless Steel 8

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1092 Series The Wilton N1026019

N1026046 1/2"D Fluted Aluminum Post 1

N1026045 1092 Mailbox 1

N1026241 1092 Newspaper Tube 1

    UMB Universal Mounting Bracket 1

N1028064 3/4" Black Stainless Steel Bolt 4

N1028063 1/2" Black Stainless Steel Bolt 4

N1028067 Nut - Black Stainless Steel 10

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1092 Series The Wales N1026015

N1023720 Washington Post 1

N1026045 1092 Newspaper Tube 2

N1026241 1092 Mailbox 2

N1024981 Rail Kit Mounting Pole(60") 1

N1027983 1092 Double Rail Kit 1

N1021101A 3/4" Black Stainless Steel Bolt 12

N1028066 1-1/2" Black Stainless Steel Bolt 4

N1028072 3-1/2" Black Stainles Steel Bolt 2

N1028067 Nut - Black Stainless Steel 18

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1092 Series The Canterbury N1026017

N1023720 Washington Post 1

N1026045 1092 Newspaper Tube 4

N1026241 1092 Mailbox 4

N1027981 1092 Quad Rail Kit 1

N1024981 Rail Kit Mounting Pole (55") 1

N1028064 3/4" Black Stainless Steel Bolt 32

N1028066 1-1/2" Black Stainless Steel Bolt 8

N1028072 3-1/2" Black Stainless Steel Bolt 2
N1028067 Nut - Black Stainless Steel 34

1092 Series

HARDWARE

HARDWARE

HARDWARE

HARDWARE



Page 23 Page 81812-1022-REV 41812-1022-REV 4

Assembly For Single Top Mount On Washington 
Post or Senator Post

Tools Needed (not provided)

• 7/16” socket or adjustable wrench (7/16” socket is preferable)
• Phillips screw driver
• No Drilling is required (all necessary mounting holes have been 
    pre-drilled at factory)
• All necessary hardware is provided (i.e. stainless steel nuts & bolts)

1
All above units use a 41/2" x 41/2" mounting plate which 
will arrive to customer already attached to the top of the cut 
Washington Post.

1
All above units use a Universal Mounting Bracket which 
will arrive to customer already attached to the top of the 
Senator Post.

2
If your mailbox style uses a newspaper tube, attach mail-
boxes to the newspaper tubes using the (4) 3/4” x 1/4-20 
bolts and (4) nylock Nuts per box.

2
If your mailbox style uses a newspaper tube, attach mail-
boxes to the newspaper tubes using the (4) 3/4”x 1/4-20 
bolts and (4) nylock Nuts per box.

3
Using the (4) pre-drilled holes on the bottom of the news-
paper tubes, attach the newspaper tube to the 41/2" x 41/2" 
mounting plate using the provided 1/2” x 1/4-20 bolts and 
matching nylock Nuts.

3
Using the (4) pre-drilled holes on the bottom of the news-
paper tubes, attach the newspaper tube to the 41/2" x 41/2" 
bracket using the provided 1/2” x 1/4-20 bolts and match-
ing nylock Nuts.

4

In case of the Everette:
A black acrylic bracket will be provided with (4) pre-drilled 
holes. Align with holes on the 41/2" x 41/2" mounting plate 
and fasten tight, using the provided 3/4” x 1/4-20 bolts and 
matching nylock Nuts.

4

In case of the Rosedale:
A black acrylic bracket will be provided with (4) pre-drilled 
holes. Align with holes on the 41/2" x 41/2" bracket and 
fasten tight, using the provided 3/4” x 1/4-20 bolts and 
matching nylock Nuts.

5
Once the acrylic bracket is secure to the mounting plate, place 
the rural mailbox atop the bracket. Using the (4) self tapping 
phillips screws, fasten through the mounting holes on the 
side of the rural mailbox directly into the acrylic bracket.

5

Once the acrylic bracket is secure to the mounting plate, 
place the rural mailbox atop the bracket. Using the (4) 
self tapping phillips screws, fasten through the mounting  
holes on the side of the rural mailbox directly into the 
acrylic bracket.

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1092 Series The Donan N1026020

N1023720L Washington Post w/ 3" Support Pole 1

N1026045 1092 Mailbox 1

N1026241 1092 Newspaper Tube 1

N1021101A Back Bracket 2

N1023699 1812 Bracket 2

N1019748 Single Address Scroll 1

N1028066 1-1/2" Black Stainless Steel Bolt 4

N1028064 3/4" Black Stainless Steel Bolt 6

N1028063 1/2" Black Stainless Steel Bolt 4

N1028067 Nut - Black Stainless Steel 13

N1028068 Threaded Insert 1

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1092 Series The Norwich N1026014

N1023720 Washington Post 1

N1026045 1092 Mailbox 1

N1026439 Universal Top Mount Post 1

UMB Universal Mounting Bracket 1

N1028064 3/4" Black Stainless Steel Bolt 4

N1028067 Nut - Black Stainless Steel 4

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1092 Series The Warwick N1016021

N1023720L Washington Post w/ 3" Support Pole 1

N1026045 1092 Mailbox 2

N1026241 1092 Newspaper Tube 2

N1023699 1812 Bracket 4

1/2 SCROLL 1/2 Scroll Support Bar 2

N1028066 1-1/2" Black Stainless Steel Bolt 4

N1028064 3/4" Black Stainless Steel Bolt 12

N1028063 1/2" Black Stainless Steel Bolt 8

N1028067 Nut - Black Stainless Steel 22

N1028068 Threaded Insert 2

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1092 Series The Durham N1026013

N1026046 5"D Fluted Aluminum Post 1

N1026045 1092 Mailbox 1

UMB Universal Mounting Bracket 1

N1028075 Black S/S 1" Self-Tapping Screw 4

N1028064 3/4" Black Stainless Steel Bolt 4

N1028067 Nut - Black Stainless Steel 4

Applicable to: Everette, Rosedale, Oakridge, New Hampton,  
Newport, Brunswick, Bailey, Norwich, Wilton, Durham

1092 Series

HARDWARE

HARDWARE

HARDWARE

HARDWARE

Everette, Newport, New Hampton,  
Bailey, Norwich

Rosedale, Oakridge. Durham, Wilton



Page 9 Page 221812-1022-REV 4 1812-1022-REV 4

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Oak Ridge N1026035
N1026046 5 D" Fluted Aluminum Post 1
N1004697 Medium Size Rural Mailbox 1
N1023719 Sunday Newspaper Tube 1
UMB Universal Mounting Bracket 1
N1028067 Nut - Black Stainless Steel 8
N1028064 3/4" Black Stainless Steel Bolt 4
N1028063 1/2" Black Stainless Steel Bolt 4

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Eastport N1025292
N1023720L Washington Post w/ 3” Support Pole 1
N1004697 Medium Size Rural Mailbox 4
N1023719 Sunday Newspaper Tube 4
N1023699 1812 Bracket 8
N1023802 Port Hill Bracket 2
N1028064 3/4" Black Stainless Steel Bolt 40
N1028066 1-1/2" Black Stainless Steel Bolt 8
N1028067 Nut - Black Stainless Steel 44

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Weston N1026265
N1023720L Washington Post w/ 3” Support Pole 1
N1004697 Medium Size Rural Mailbox 1
N1023719 Sunday Newspaper Tube 1
N1019748 Single Address Scroll 1
N1028063 1812 Bracket 2
N1021101A Back Bracket 2
N1028067 Nut - Black Stainless Steel 13
N1028066 1-1/2" Black Stainless Steel Bolt 4
N1028063 1/2" Black Stainless Steel Bolt 8
N1028064 3/4" Black Stainless Steel Bolt 2
N1028068 Threaded Insert 1

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Washburn N1027935
N1023720 Washington Post 1
N1024980 1812 Triple Rail Kit 1
N1004697 Medium Size Rural Mailbox 3
N1024981 Rail Kit Mounting Pole (55") 1
N1023718 Acrylic Mounting Bracket 3
N1028064 3/4" Black Stainless Steel Bolt 12
N1028072 3-1/2" Black Stainless Steel Bolt 2
N1028065 1" Black Stainless Steel Bolt -
N1028067 Nut - Black Stainless Steel 14

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Underwood N1027936
N1023720 Washington Post 1
N1024980 1812 Triple Rail Kit 1
N1004697 Medium Size Rural Mailbox 3
N1023719 Sunday Newspaper Tube 3
N1024981 Rail Kit Mounting Pole (60”) 1
N1028064 3/4" Black Stainless Steel Bolt 12
N1028063 1/2" Black Stainless Steel Bolt 12
N1028072 2-1/2" Black Stainless Steel Bolt 2
N1028067 Nut - Black Stainless Steel 26

Assembly Instructions For Quad Mount, (for Port Hill/Eastport/Visby)

Tools Needed (not provided)

• 7/16” socket or adjustable wrench (7/16” socket is preferable)
• Phillips screw driver
• No Drilling is required (all necessary mounting holes have been pre-drilled at factory)
• All necessary hardware is provided (i.e. stainless steel nuts & bolts)

1 Attach mailboxes to the newspaper tubes using the (4) 3/4” x 
1/4-20 bolts and (4) nylock Nuts per box.

2
Attach the (2) cast aluminum scroll brackets to the Washington 
Post using the (4) 1-1/2" bolts. Place the bolts through the (4) 
existing pre-drilled holes, each fitted with a steel threaded insert 
(2 holes per side).

3

Fasten the 1812 brackets (x in shape) to the side of the news-
paper tube utilizing the (4) 3/4” x 1/4-20 bolts and (4) nylock 
Nuts. Use the 4 existing pre-drilled holes. When finished, these 
brackets will wrap half way around the post where they will meet 
with the 1812 brackets from the second newspaper tube. This 
will make up the (2) inside box units closest to the Washington 
Post.

4
Similar to Step 3; Attach the 1812 brackets to the opposite side 
of the same newspaper tubes. This time the 1812 brackets will 
attach directly to the last set of newspaper tubes in the same 
manner.

5

Bring each of the (2) complete mailbox units up to the opposite 
side of the post, just above the previously installed scrolls, and 
fasten the two pairs of 1812 brackets to each other using the 
remaining (4) 1-1/2” x 1/4-20 bolts and (2) nylock Nuts. Adjust 
for height with scroll, and tighten into place.

7

If your mailbox option uses address plates, these can  
now be attached using (2) 1/2” x 1/4-20 bolt and (2) nylock 
Nuts per address plate. At the bottom of each newspaper  
tube are two sets of pre-drilled holes allowing for assembly  
that is perpendicular or parallel to the direction of the news-
paper tube.  Note: Newspaper tubes do not attach to Porthill 
brackets

Applicable to: Port Hill, Eastport, Visby

5413 

5413 

Colonial Series

HARDWARE

HARDWARE

HARDWARE

HARDWARE

HARDWARE



Page 21 Page 101812-1022-REV 41812-1022-REV 4

Assembly Instruction For Carrington Mailbox

Tools Needed (not provided)

• 7/16" socket or adjustable wrench (7/16" socket is preferable)
• Phillips screw driver
• No Drilling is required (all necessary mounting holes have been pre-drilled at factory)
• All necessary hardware is provided (i.e. stainless steel Nuts & bolts)

1
With the Washington Post securely mounted in the ground, locate the 
two side mount brackets, and attach them around the Washington Post 
using the provided (2) 2" x 1/4-20 bolts and (2) Nylock Nuts. Placement 
should settle just above preinstalled stainless steel threaded insert.

2 Assemble the Carrington support brackets (4 angle pieces) using the 
provided 3/4" x 1/4-20 bolts and nylock Nuts. See drawing for detail.

3 Attach the mailbox to the newspaper tube using the (4) 3/4" x 1/4-20 
bolts and (4) nylock Nuts per box.

4

Line up the holes at the bottom of the newspaper tubes with the holes 
of the Carrington support bracket. Attach (3) box/paper tube units to the 
assembled support bracket using the provided (4) 3/4" x 1/4-20 bolts 
and (4) nylock Nuts per unit. Either one of the middle units is not at-
tached yet to leave clearance for the entire unit to slip over the finial of 
the Washington post in the next step.

5
Place the Carrington bracket with (3) mailboxes & tubes so far, over the 
post as shown, and lower into line with preinstalled steel threaded insert 
on Washington post. Using (1) 2" x 1/4-20 bolts, attach the front frame 
of the Carrington bracket to the post.

6
Now the side mount brackets, which were attached to the Washington 
post in Step 1, need to be attached to the newspaper tubes. This is done 
using the existing holes on the newspaper tubes, and (2) 3/4" x 1/4-20 
bolts and (2) nylock Nuts for each bracket. Fasten & tighten into place.

7
Attach the last mailbox/tube unit to the Carrington support bracket utiliz-
ing the provided (4) 3/4" x 1/4-20 bolts & (4) nylock Nuts. (This is done 
the same way it was done in Step 4)

8

If your mailbox option uses address plates, these can now be attached 
using (2) 3/4" x 1/4-20 bolts and (2) nylock Nuts per address plate. Be-
low each newspaper tube, but not on the Carrington bracket, are (4) sets 
of predrilled holes allowing for the addition of the address plates. Attach 
using the provided (2) 3/4" x 1/4-20 bolts & (2) nylock Nuts per tube.

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Monroe N1025595/N1027437
N1023720L Washington Post w/ 3" Support Pole 1
N1004697 Medium Size Rural Mailbox 2
N1023719 Sunday Newspaper Tube 2
N1023699 1812 Bracket 4
N1021623 Address Plate - Black 2
N1028066 1-1/2" Black Stainless Steel Bolt 4
N1028064 3/4" Black Stainless Steel Bolt 8
N1028063 1/2" Black Stainless Steel Bolt 12
N1028067 Nut - Black Stainless Steel 24

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Rosedale N1026034
N1026046 5" D Fluted Aluminum Post 1
N1004697 Medium Size Rural Mailbox 1
N1023718 Acrylic Mounting Bracket 1
UMB Universal Mounting Bracket 1
N1028075 Black S/S 1" Self-Tapping Screw 4
N1028064 3/4" Black Stainless Steel Bolt 4
N1028067 Nut - Black Stainless Steel 4

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Salem N1019806
N1023720 Washington Post 1
N1004697 Medium Size Rural Mailbox 2
N1026439 Universal Top Mount Post 1
N1020954 Double Top Mount Bracket 1
N1028064 3/4" Black Stainless Steel Bolt 12
N1028067 Nut - Black Stainless Steel 12

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Sarasota N1019815
N1023720L Washington Post w/ 3" Support Pole 1
N1004695 Standard Size Rural Mailbox 2
N1020948A Side Mount Bracket 2
N1020041 Colonial Newspaper Tube 2
N1023715 Spacer 4
N1028066 1-1/2" Black Stainless Steel Bolt 6
N1028063 1/2" Black Stainless Steel Bolt 8
N1028067 Nut - Black Stainless Steel 14

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Tucson N1019809
N1023720L Washington Post w/ 3" Support Pole 1
N1004695 Standard Size Rural Mailbox 1
N1020041 Colonial Newspaper Tube 1
N1020038 Front Mount Bracket 1
N1021101A Back Bracket 1
N1023715 Spacer 1
N1028066 1-1/2" Black Stainless Steel Bolt 2
N1028063 Back Bracket 4
N1028067 Nut - Black Stainless Steel 6

Applicable to: Carrington ColonialColonial Series

HARDWARE

HARDWARE

HARDWARE

HARDWARE

HARDWARE



Page 11 Page 201812-1022-REV 4 1812-1022-REV 4

Assembly Instructions For Morganton Mailbox

Tools Needed (not provided)

• 7/16" socket or adjustable wrench (7/16" socket is preferable)
• Phillips screw driver
• No Drilling is required (all necessary mounting holes have been pre-drilled at factory)
• All necessary hardware is provided (i.e. stainless steel Nuts & bolts)

1
Assemble the cross support by attaching the Morganton end 
brackets to each side of the Morganton support bracket using 
(2) 3/4" x 1/4-20 bolts and (2) nylock Nuts for each side.

2
Using (2) 1-1/2" x 1/4-20 bolts and (2) nylock Nuts, the (2) back 
brackets (C-shape) will wrap halfway around each Washington 
post, and attach to the previously assembled Morganton support 
bracket as shown.

3
Attach mailboxes to the newspaper tubes using the (4) 3/4" x 
1/4-20 bolts and (4) nylock Nuts per box. All necessary holes 
have been pre-drilled.

4

Line up the (4) pre-drilled holes at the bottom of each news-
paper tube with the pre-drilled holes on the horizontal support 
bracket. Attach the (4) center mailbox units to the horizontal 
support bracket using (4) 1/2" x 1/4-20 bolts and (4) nylock 
Nuts per tube.

5

Fasten (2) 1812 brackets (x in shape) to opposite sides of the 
newspaper tubes of the (2) remaining mailbox units. Use  the 
(4) 3/4" x 1/4-20 bolts and (4) nylock Nuts. Use the 4 existing 
pre-drilled holes. When finished, these brackets will wrap half 
way around the post where they will be attached to back brackets 
to hold them in place.

6
Using (2) back brackets (C-shape) and (4) 1-1/2" x 1/4-20 bolts 
attach mailbox unit to each post as shown. Placement should be 
directly above the previously installed Morganton brackets. This 
bracketing will support the (2) outermost mailbox units.

7

If your mailbox option uses address plates, these can now be 
attached using (2) 3/4" x 1/4-20 bolt and (2) nylock Nuts per 
address plate. At the bottom of each newspaper tube are two sets 
of pre-drilled holes allowing for assembly that is perpendicular 
to the direction of the newspaper tube.

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Birmingham N1019813
N1023720L Washington Post w/ 3" Support Pole 1
N1004695 Standard Size Rural Mailbox 1
N1020041 Colonial Newspaper Tube 1
N1021101A Back Bracket 1
N1020038 Front Mount Bracket 1
N1019748 Single Address Scroll 1
N1028066 1-1/2" Black Stainless Steel Bolt 2
N1028064 3/4" Black Stainless Steel Bolt 6
N1028067 Nut - Black Stainless Steel 7
N1028068 Threaded Insert 1

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Boulder (w/Scroll) N1026221
N1023720L Washington Post w/ 3" Support Pole 1
N1004695 Standard Size Rural Mailbox 2
N1020041 Colonial Newspaper Tube 2
N1020039A Double Front Mount Bracket 1
N1019748A Double Address Scroll 1
N102814b Tube Bracket for Boulder 1
N1021101A Back Bracket 1
N1023700 Cross Bracket For Boulder 1
N1023715 Spacer Tube 1
N1028064 3/4" Black Stainless Steel Bolt 8
N1028063 1/2" Black Stainless Steel Bolt 8
N1028067 Nut - Black Stainless Steel 18

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Carrington N1021788
N1023720L Washington Post w/ 3" Support Pole 1
N1004695 Standard Size Rural Mailbox 4
N1020041 Colonial Newspaper Tube 4
N1020948A Side Mount Bracket 2
N1023715 Spacer 1
N1022994 Carrington Support Brackets 4
N/A 2" Black Stainless Steel Bolt 3
N1021623 Address Plates 4
N1028064 3/4" Black Stainless Steel Bolt 36
N1028063 1/2" Black Stainless Steel Bolt 14
N1028067 Nut - Black Stainless Steel 38
N1028068 Threaded Insert 1

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Everette N1019805
N1023720 Washington Post 1
N1004697 Medium Size Rural Mailbox 4
N1026439 Universal Top Mount Post 1
N1023718 Acrylic Mounting Bracket 1
N1028064 3/4" Black Stainless Steel Bracket 4
N1028075 Black S/S 1" Self Tapping Screw 4
N1028067 Nut - Black Stainless Steel 4

Applicable to: Morganton 1812 

5413 5414   5415 5416 5417  5418 

Colonial Series

HARDWARE

HARDWARE

HARDWARE

HARDWARE



Page 19 Page 121812-1022-REV 41812-1022-REV 4

Estate Series • Assembly Instructions for Front Mount, Full Post Option

Tools Needed (not provided)

• 7/16" socket or adjustable wrench (7/16" socket is preferable)
• Phillips screw driver
• No Drilling is required (all necessary mounting holes have been pre-drilled at factory)
• All necessary hardware is provided (i.e. stainless steel Nuts & bolts)

1

With Estate series post securely mounted into the 
ground, locate the (4) stainless steel threaded in-
serts that are already set into the front of the post. 
This is where the Estate Series bracket will mount 
to.

2
Fasten the “Estate Bracket” to front of the Estate 
series post utilizing the (4) 3/4" x 1/4-20 bolts, and 
the preinstalled stainless steel inserts.

3
Attach the mailboxes to the newspaper tubes using 
the (4) 3/4" x 1/4-20 bolts and (4) nylock Nuts per 
box and tube.

4

Bring the complete mailbox/tube unit to the front of the 
post and line up the predrilled holes in the back of the 
newspaper tube with the (4) holes on the estate bracket. 
Fasten to the estate bracket using the (4) 1/2" x 1/4-20 
bolts and (4) nylock Nuts.

(If your mailbox does not use a newspaper tube, the 
estate bracket will fasten directly to the back of the 
mailbox using (4) predrilled holes.)

5

5-A.)  Attach the address scroll to the bottom of the 
newspaper tube using the provided 3/4" x 1/4-20 
bolt and (1) nylock Nut. The newspaper tube has a 
pre-drilled hole that is slotted for easy adjustment for 
height of the mailbox on the post.

(The Richmond and the Altair do not use an address 
scroll)
(If your mailbox does not use a newspaper tube, the 
scroll will attach directly to the bottom of the mailbox.)

5-B.)  Use the remaining (1) 3/4" x 1/4-20 bolt to at-
tach the bottom of the address scroll directly to the 
post. A threaded stainless steel insert is already in the 
post for this purpose.

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Port Hill N1023735

N1023720L Washington Post w/ 3" Support Pole 1

N1021786 1812 Mailbox 4

N1023719 Sunday Newspaper Tube 4

N1023802 Port Hill Bracket 2

N1025567 Port Hill Back Brace 1

N1023699 1812 Bracket 8

N1028064 3/4" Black Stainless Steel Bolt 40

N1028066 1-1/2" Black Stainless Steel Bolt 8

N1028067 Nut - Black Stainless Steel 44

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Morganton N1023789

N1023720L Washington Post w/ 3" Support Pole 2

N1021786 1812 Mailbox 6

N1023719 Sunday Newspaper Tube 6

N1021623 Address Plate - Black 6

N1023699 1812 Bracket 4

N1021101A Back Bracket 6

N1025583 Morganton Support Bracket 1

N1025929 Morganton End Bracket 2

N1028064 3/4" Black Stainless Steel Bolt 44

N1028063 1/2" Black Stainless Steel Bolt 16

N1028066 1-1/2" Black Stainless Steel Bolt 12

N1028067 Nut - Black Stainless Steel 72

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Carthage N1026033

N1023720 Washington Post 1

N1021786 1812 Mailbox 4

N1023719 Sunday Newspaper Tube 4

N1024983 1812 Quad Rail Kit 1

N1024981 Rail Kit Mounting Pole (55") 1

N1021623 Address Plates 4

N1028066 1-1/2" Black Stainless Steel Bolt 8

N1028064 3/4" Black Stainless Steel Bolt 24

N1028072 3-1/2" Black Stainless Steel Bolt 2

N1028067 Nut - Black Stainless Steel 34

Applicable to: Richmond, Baton Rouge, Altair,
Wilkes, Oakhill, Delta 

Figure 5-A Figure 5-B

mailbox 
 
 

bracket 
 
 

tube 

1812 Series

HARDWARE

HARDWARE

HARDWARE



Page 13 Page 181812-1022-REV 4 1812-1022-REV 4

Estate Series • Assembly Instructions for Side Mount, Full Post Option

Tools Needed (not provided)

• 7/16" socket or adjustable wrench (7/16" socket is preferable)
• Phillips screw driver
• No Drilling is required (all necessary mounting holes have been pre-drilled at factory)
• All necessary hardware is provided (i.e. stainless steel Nuts and bolts)

1

With Estate series post securely mounted into the 
ground, locate the (4) stainless steel threaded 
inserts that are already set into each of the two 
sides of the post. This is where the Estate Series 
brackets will mount to.

2
Fasten the “Estate Bracket” to front of the Estate 
series post utilizing the (4) 3/4" x 1/4-20 bolts, 
and the preinstalled stainless steel inserts.

3
Attach the mailboxes to the newspaper tubes 
using the (4) 3/4" x 1/4-20 bolts and (4) nylock 
Nuts per box and tube.

4

Bring the complete mailbox/tube units to each 
side of the post and line up the (4) predrilled 
holes in the side of the newspaper tubes with the 
(4) holes on each Estate series bracket. Fasten the 
estate bracket using the (4) 1/2" x 1/4-20 bolts 
and (2) nylock Nuts per each box and tube set.

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Sutherland N1024987

N1023720 Washington Post 1

N1021786 1812 Mailbox 4

N1024983 1812 Quad Rail Kit 1

N1024981 Rail Kit Mounting Pole (60”) 1

N/A 2" Black Stainless Steel Bolt 8

N/A 3" Black Stainless Steel Bolt 8

N/A 3-1/2" Black Stainless Steel Bolt 2

N1028067 Nut - Black Stainless Steel 18

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Newport N1023734

N1023720 Washington Post 1

N1021786 1812 Mailbox 1

N1023719 Sunday Newspaper Tube 1

N1026439 Universal Top Mount Post 1

N1028064 3/4" Black Stainless Steel Bolt 4

N1028063 1/2" Black Stainless Steel Bolt 4

N1028067 Nut - Black Stainless Steel 8

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Buckhorn N1024984

N1023720 Washington Post 1

N1021786 1812 Mailbox 2

N1023719 Sunday Newspaper Tube 2

N1024982 1812 Double Rail Kit 1

N1024981 Rail Kit Mounting Pole (55") 1

N1021623 Address Plates 2

N1028066 1-1/2" Black Stainless Steel Bolt 8

N1028064 3/4" Black Stainless Steel Bolt 8

N1028072 3-1/2" Black Stainless Steel Bolt 2

N1028067 Nut - Black Stainless Steel 18

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Greensville N1024985

N1023720 Washington Post 1

N1021786 1812 Mailbox 3

N1023719 Sunday Newspaper Tube 3

N1024980 1812 Triple Rail Kit 1

N1024981 Rail Kit Mounting Pole (55") 1

N1028066 1-1/2" Black Stainless Steel Bolt 6

N1028064 3/4" Black Stainless Steel Bolt 18

N1028072 3-1/2" Black Stainless Steel Bolt 2

N1028067 Nut - Black Stainless Steel 26

Applicable to: Dixon, Abbot, Porterfield, Lawrence

Complete

1812 Series

HARDWARE

HARDWARE

HARDWARE

HARDWARE



Page 17 Page 141812-1022-REV 41812-1022-REV 4

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Columbus N1021782A

N1023720L Washington Post w/ 3" Support Pole 1

N1021786 1812 Mailbox 2

N1023719 Sunday Newspaper Tube 2

N1023699 1812 Bracket 4

N1020872 1-1/2" Black Stainless Steel Bolt 4

N1028064 3/4" Black Stainless Steel Bolt 8

N1028063 1/2" Black Stainless Steel Bolt 8

N1028067 Nut - Black Stainless Steel 20

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The New Hampton N1021775

N1023720 Washington Post 1

N1021786 1812 Mailbox 1

N1026439 Universal Top Mount Post 1

N1028064 3/4" Black Stainless Steel Bolt 4

N1028067 Nut - Black Stainless Steel 4

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Montgomery N1021776

N1023720 Washington Post 1

N1021786 1812 Mailbox 2

N1020954 Double Top Mount Bracket 1

N1026439 Universal Top Mount Post 1

N1028064 3/4" Black Stainless Steel Bolt 8

N1028063 1/2" Black Stainless Steel Bolt 4

N1028067 Nut - Black Stainless Steel 12

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Park Ridge N1024986

N1023720 Washington Post 1

N1021786 1812 Mailbox 3

N1024980 1812 Triple Rail Kit 1

N1024981 Rail Kit Mounting Pole (55") 1

N/A 2" Black Stainless Steel Bolt 6

N/A 3" Black Stainless Steel Bolt 6

N1028072 3-1/2" Black Stainless Steel Bolt 2

N1028064 3/4" Black Stainless Steel Bolt 16

N1028067 Nut - Black Stainless Steel 14

For Washington Post

Installation & Assembly of Colonial Carriage Light

Before Installation:

1.) After post is installed, set fixture on top of post and note hole 
locations in the steel post insert (tenon).

2.) Remove fixture and expose the wiring. Twist the white fixture 
wire with the white conduit wire (use wire Nuts to secure connec-
tions).

3.) Twist the black fixture wire with the black conduit wire (use wire 
Nuts to secure connections).

4.) Twist the copper fixture wire with the conduit ground wire (use 
wire Nuts to secure connections).

5.) Tuck wires into steel post insert (tenon) and replace fixture onto 
tenon. Use provided screws to secure fixture to steel post tenon.

6.) Next, insert and twist light bulb* into socket. Use 1 bulb. Type A, 
maximum 100W or less. DO NOT OVER LAMP.

7.) Place top cover on the fixture and secure into place from the 
bottom using the provided screws.

8.) Turn the power back on.

* Bulb not provided

1812 Series

HARDWARE

HARDWARE

HARDWARE

HARDWARE

Items Needed: Parts List:
• Adjustable Wrench • Fixture Body
• Phillips screw driver • Top Fixture Cover
• Wire Cutters • Hardware Bag
• Step Ladder • Washington/French Courtyard Post

*WARNING: 
THE FOLLOWING INSTRUCTIONS MUST BE FOLLOWED WHEN INSTALLING THIS LIGHT FIXTURE IN ACCORDANCE 
WITH THE LOCAL CONSTRUCTION CODES IN YOUR AREA. FAILURE TO COMPLY WITH THESE REQUIREMENTS 
COULD LEAD TO ELECTRICAL SHOCK OR FIRE.

*WARNING: 
ALWAYS SHUT OFF POWER AT THE CIRCUIT BREAKER OR DISCONNECT FUSE WHEN INSTALLING OR REPAIRING 
THIS OR ANY OTHER ELECTRIC APPLIANCE. FAILURE TO DO SO MAY RESULT IN SEVERE INJURY OR EVEN DEATH.

*WARNING: 
LIGHTING MUST BE HARD-WIRED TO HOME ELECTRICAL SYSTEM.



Page 15 Page 161812-1022-REV 41812-1022-REV 4

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Cape Charles N1021783

N1023720L Washington Post w/ 3" support pole 1

N1021786 1812 Mailbox 1

N1019748 Single Address Scroll 1

N1023699 1812 Bracket 2

N1021101A Back Bracket 2

N1028768 Cross Bracket for Cape Charles 2

N1028068 Threaded Insert 1

N1028072 1-1/2" Black Stainless Steel Bolt 5

N1028064 3/4" Black Stainless Steel Bolt 5

N1028067 Nut - Black Stainless Steel 12

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Longmont N1021777

N1023720L Washington Post w/ 3" support pole 1

N1021786 1812 Mailbox 1

N1023699 1812 Bracket 2

N1021101A Back Bracket 2

1/2 SCROLL 1/2 Scroll Support Bar 1

N1028072 1-1/2" Black Stainless Steel Bolt 4

N1028063 1/2" Black Stainless Steel Bolt 4

N1028067 Nut - Black Stainless Steel 8

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Tallahasse N1021778

N1023720L Washington Post w/ 3" support pole 1

N1021786 1812 Mailbox 2

N1023699 1812 Bracket 4

1/2 SCROLL 1/2 Scroll Support Bar 2

N1028072 1-1/2" Black Stainless Steel Bolt 6

N1028063 1/2" Black Stainless Steel Bolt 8

N1028067 Nut - Black Stainless Steel 14

N1028068 Threaded Insert 2

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Port Angeles N1021955M

N1023720L Washington Post w/ 3" support pole 1

N1021786 1812 Mailbox 2

N1023719 Sunday Newspaper Tube 2

N1021623 Address Plate - Black 2

N1023699 1812 Bracket 4

N1028072 1-1/2" Black Stainless Steel Bolt 4

N1028064 3/4" Black Stainless Steel Bolt 8

N1028063 1/2" Black Stainless Steel Bolt 12

N1028067 Nut -- Black Stainless Steel 24

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Augusta N1021784M
N1023720L Washington Post w/ 3" support pole 1
N1021786 1812 Mailbox 1
N1023719 Sunday Newspaper Tube 1
N1023699 1812 Bracket 2
N1021101A Back Bracket 2
N1028066 1-1/2" Black Stainless Steel Bolt 4
N1028072 3/4" Black Stainless Steel Bolt 4
N1028064 1/2" Black Stainless Steel Bolt 4
N1028067 Nut - Black Stainless Steel 12

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Beaumont N1021785M
N1023720L Washington Post w/ 3" support pole 1
N1021786 1812 Mailbox 1
N1023719 Sunday Newspaper Tube 1
N1019748 Single Address Scroll 1
N1021101A Back Bracket 2
N1023699 1812 Bracket 2
N1028063 1/2" Black. Stainless Steel Bolt 6
N1028064 3/4" Black Stainless Steel Bolt 4
N1028066 1-1/2" Black Stainless Steel Bolt 4
N1028067 Nut - Black Stainless Steel 16
N1028068 Threaded Insert 1

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Riverside N1021781
N1023720L Washington Post w/ 3" support pole 1
N1021786 1812 Mailbox 1
N1023719 Sunday Newspaper Tube 1
N1023699 1812 Bracket 2
N1021101A Back Bracket 2
N1028072 1-1/2" Black Stainless Steel Bolt 4
N1028064 3/4" Black Stainless Steel Bolt 4
N1028063 1/2" Black Stainless Steel Bolt 4
N1028067 Nut - Black Stainless Steel 12

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Somerset N1021954
N1023720L Washington Post w/ 3" support pole 1
N1021786 1812 Mailbox 1
N1023719 Sunday Newspaper Tube 1
N1023699 1812 Bracket 2
N1021101A Back Bracket 2
N1021623 Address Plate - Black 1
N1028072 1-1/2" Black Stainless Steel Bolt 4
N1028064 3/4" Black Stainless Steel Bolt 4
N1028063 1/2" Black Stainless Steel Bolt 6
N1028067 Nut - Black Stainless Steel 14

HARDWARE

HARDWARE

HARDWARE

HARDWARE

1812 Series

HARDWARE

HARDWARE

HARDWARE

HARDWARE

1812 Series



Page 15 Page 161812-1022-REV 41812-1022-REV 4

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Cape Charles N1021783

N1023720L Washington Post w/ 3" support pole 1

N1021786 1812 Mailbox 1

N1019748 Single Address Scroll 1

N1023699 1812 Bracket 2

N1021101A Back Bracket 2

N1028768 Cross Bracket for Cape Charles 2

N1028068 Threaded Insert 1

N1028072 1-1/2" Black Stainless Steel Bolt 5

N1028064 3/4" Black Stainless Steel Bolt 5

N1028067 Nut - Black Stainless Steel 12

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Longmont N1021777

N1023720L Washington Post w/ 3" support pole 1

N1021786 1812 Mailbox 1

N1023699 1812 Bracket 2

N1021101A Back Bracket 2

1/2 SCROLL 1/2 Scroll Support Bar 1

N1028072 1-1/2" Black Stainless Steel Bolt 4

N1028063 1/2" Black Stainless Steel Bolt 4

N1028067 Nut - Black Stainless Steel 8

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Tallahasse N1021778

N1023720L Washington Post w/ 3" support pole 1

N1021786 1812 Mailbox 2

N1023699 1812 Bracket 4

1/2 SCROLL 1/2 Scroll Support Bar 2

N1028072 1-1/2" Black Stainless Steel Bolt 6

N1028063 1/2" Black Stainless Steel Bolt 8

N1028067 Nut - Black Stainless Steel 14

N1028068 Threaded Insert 2

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Port Angeles N1021955M

N1023720L Washington Post w/ 3" support pole 1

N1021786 1812 Mailbox 2

N1023719 Sunday Newspaper Tube 2

N1021623 Address Plate - Black 2

N1023699 1812 Bracket 4

N1028072 1-1/2" Black Stainless Steel Bolt 4

N1028064 3/4" Black Stainless Steel Bolt 8

N1028063 1/2" Black Stainless Steel Bolt 12

N1028067 Nut -- Black Stainless Steel 24

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Augusta N1021784M
N1023720L Washington Post w/ 3" support pole 1
N1021786 1812 Mailbox 1
N1023719 Sunday Newspaper Tube 1
N1023699 1812 Bracket 2
N1021101A Back Bracket 2
N1028066 1-1/2" Black Stainless Steel Bolt 4
N1028072 3/4" Black Stainless Steel Bolt 4
N1028064 1/2" Black Stainless Steel Bolt 4
N1028067 Nut - Black Stainless Steel 12

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Beaumont N1021785M
N1023720L Washington Post w/ 3" support pole 1
N1021786 1812 Mailbox 1
N1023719 Sunday Newspaper Tube 1
N1019748 Single Address Scroll 1
N1021101A Back Bracket 2
N1023699 1812 Bracket 2
N1028063 1/2" Black. Stainless Steel Bolt 6
N1028064 3/4" Black Stainless Steel Bolt 4
N1028066 1-1/2" Black Stainless Steel Bolt 4
N1028067 Nut - Black Stainless Steel 16
N1028068 Threaded Insert 1

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Riverside N1021781
N1023720L Washington Post w/ 3" support pole 1
N1021786 1812 Mailbox 1
N1023719 Sunday Newspaper Tube 1
N1023699 1812 Bracket 2
N1021101A Back Bracket 2
N1028072 1-1/2" Black Stainless Steel Bolt 4
N1028064 3/4" Black Stainless Steel Bolt 4
N1028063 1/2" Black Stainless Steel Bolt 4
N1028067 Nut - Black Stainless Steel 12

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Somerset N1021954
N1023720L Washington Post w/ 3" support pole 1
N1021786 1812 Mailbox 1
N1023719 Sunday Newspaper Tube 1
N1023699 1812 Bracket 2
N1021101A Back Bracket 2
N1021623 Address Plate - Black 1
N1028072 1-1/2" Black Stainless Steel Bolt 4
N1028064 3/4" Black Stainless Steel Bolt 4
N1028063 1/2" Black Stainless Steel Bolt 6
N1028067 Nut - Black Stainless Steel 14

HARDWARE

HARDWARE

HARDWARE

HARDWARE

1812 Series

HARDWARE

HARDWARE

HARDWARE

HARDWARE

1812 Series



Page 17 Page 141812-1022-REV 41812-1022-REV 4

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Columbus N1021782A

N1023720L Washington Post w/ 3" Support Pole 1

N1021786 1812 Mailbox 2

N1023719 Sunday Newspaper Tube 2

N1023699 1812 Bracket 4

N1020872 1-1/2" Black Stainless Steel Bolt 4

N1028064 3/4" Black Stainless Steel Bolt 8

N1028063 1/2" Black Stainless Steel Bolt 8

N1028067 Nut - Black Stainless Steel 20

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The New Hampton N1021775

N1023720 Washington Post 1

N1021786 1812 Mailbox 1

N1026439 Universal Top Mount Post 1

N1028064 3/4" Black Stainless Steel Bolt 4

N1028067 Nut - Black Stainless Steel 4

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Montgomery N1021776

N1023720 Washington Post 1

N1021786 1812 Mailbox 2

N1020954 Double Top Mount Bracket 1

N1026439 Universal Top Mount Post 1

N1028064 3/4" Black Stainless Steel Bolt 8

N1028063 1/2" Black Stainless Steel Bolt 4

N1028067 Nut - Black Stainless Steel 12

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Park Ridge N1024986

N1023720 Washington Post 1

N1021786 1812 Mailbox 3

N1024980 1812 Triple Rail Kit 1

N1024981 Rail Kit Mounting Pole (55") 1

N/A 2" Black Stainless Steel Bolt 6

N/A 3" Black Stainless Steel Bolt 6

N1028072 3-1/2" Black Stainless Steel Bolt 2

N1028064 3/4" Black Stainless Steel Bolt 16

N1028067 Nut - Black Stainless Steel 14

For Washington Post

Installation & Assembly of Colonial Carriage Light

Before Installation:

1.) After post is installed, set fixture on top of post and note hole 
locations in the steel post insert (tenon).

2.) Remove fixture and expose the wiring. Twist the white fixture 
wire with the white conduit wire (use wire Nuts to secure connec-
tions).

3.) Twist the black fixture wire with the black conduit wire (use wire 
Nuts to secure connections).

4.) Twist the copper fixture wire with the conduit ground wire (use 
wire Nuts to secure connections).

5.) Tuck wires into steel post insert (tenon) and replace fixture onto 
tenon. Use provided screws to secure fixture to steel post tenon.

6.) Next, insert and twist light bulb* into socket. Use 1 bulb. Type A, 
maximum 100W or less. DO NOT OVER LAMP.

7.) Place top cover on the fixture and secure into place from the 
bottom using the provided screws.

8.) Turn the power back on.

* Bulb not provided

1812 Series

HARDWARE

HARDWARE

HARDWARE

HARDWARE

Items Needed: Parts List:
• Adjustable Wrench • Fixture Body
• Phillips screw driver • Top Fixture Cover
• Wire Cutters • Hardware Bag
• Step Ladder • Washington/French Courtyard Post

*WARNING: 
THE FOLLOWING INSTRUCTIONS MUST BE FOLLOWED WHEN INSTALLING THIS LIGHT FIXTURE IN ACCORDANCE 
WITH THE LOCAL CONSTRUCTION CODES IN YOUR AREA. FAILURE TO COMPLY WITH THESE REQUIREMENTS 
COULD LEAD TO ELECTRICAL SHOCK OR FIRE.

*WARNING: 
ALWAYS SHUT OFF POWER AT THE CIRCUIT BREAKER OR DISCONNECT FUSE WHEN INSTALLING OR REPAIRING 
THIS OR ANY OTHER ELECTRIC APPLIANCE. FAILURE TO DO SO MAY RESULT IN SEVERE INJURY OR EVEN DEATH.

*WARNING: 
LIGHTING MUST BE HARD-WIRED TO HOME ELECTRICAL SYSTEM.



Page 13 Page 181812-1022-REV 4 1812-1022-REV 4

Estate Series • Assembly Instructions for Side Mount, Full Post Option

Tools Needed (not provided)

• 7/16" socket or adjustable wrench (7/16" socket is preferable)
• Phillips screw driver
• No Drilling is required (all necessary mounting holes have been pre-drilled at factory)
• All necessary hardware is provided (i.e. stainless steel Nuts and bolts)

1

With Estate series post securely mounted into the 
ground, locate the (4) stainless steel threaded 
inserts that are already set into each of the two 
sides of the post. This is where the Estate Series 
brackets will mount to.

2
Fasten the “Estate Bracket” to front of the Estate 
series post utilizing the (4) 3/4" x 1/4-20 bolts, 
and the preinstalled stainless steel inserts.

3
Attach the mailboxes to the newspaper tubes 
using the (4) 3/4" x 1/4-20 bolts and (4) nylock 
Nuts per box and tube.

4

Bring the complete mailbox/tube units to each 
side of the post and line up the (4) predrilled 
holes in the side of the newspaper tubes with the 
(4) holes on each Estate series bracket. Fasten the 
estate bracket using the (4) 1/2" x 1/4-20 bolts 
and (2) nylock Nuts per each box and tube set.

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Sutherland N1024987

N1023720 Washington Post 1

N1021786 1812 Mailbox 4

N1024983 1812 Quad Rail Kit 1

N1024981 Rail Kit Mounting Pole (60”) 1

N/A 2" Black Stainless Steel Bolt 8

N/A 3" Black Stainless Steel Bolt 8

N/A 3-1/2" Black Stainless Steel Bolt 2

N1028067 Nut - Black Stainless Steel 18

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Newport N1023734

N1023720 Washington Post 1

N1021786 1812 Mailbox 1

N1023719 Sunday Newspaper Tube 1

N1026439 Universal Top Mount Post 1

N1028064 3/4" Black Stainless Steel Bolt 4

N1028063 1/2" Black Stainless Steel Bolt 4

N1028067 Nut - Black Stainless Steel 8

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Buckhorn N1024984

N1023720 Washington Post 1

N1021786 1812 Mailbox 2

N1023719 Sunday Newspaper Tube 2

N1024982 1812 Double Rail Kit 1

N1024981 Rail Kit Mounting Pole (55") 1

N1021623 Address Plates 2

N1028066 1-1/2" Black Stainless Steel Bolt 8

N1028064 3/4" Black Stainless Steel Bolt 8

N1028072 3-1/2" Black Stainless Steel Bolt 2

N1028067 Nut - Black Stainless Steel 18

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Greensville N1024985

N1023720 Washington Post 1

N1021786 1812 Mailbox 3

N1023719 Sunday Newspaper Tube 3

N1024980 1812 Triple Rail Kit 1

N1024981 Rail Kit Mounting Pole (55") 1

N1028066 1-1/2" Black Stainless Steel Bolt 6

N1028064 3/4" Black Stainless Steel Bolt 18

N1028072 3-1/2" Black Stainless Steel Bolt 2

N1028067 Nut - Black Stainless Steel 26

Applicable to: Dixon, Abbot, Porterfield, Lawrence

Complete

1812 Series

HARDWARE

HARDWARE

HARDWARE

HARDWARE



Page 19 Page 121812-1022-REV 41812-1022-REV 4

Estate Series • Assembly Instructions for Front Mount, Full Post Option

Tools Needed (not provided)

• 7/16" socket or adjustable wrench (7/16" socket is preferable)
• Phillips screw driver
• No Drilling is required (all necessary mounting holes have been pre-drilled at factory)
• All necessary hardware is provided (i.e. stainless steel Nuts & bolts)

1

With Estate series post securely mounted into the 
ground, locate the (4) stainless steel threaded in-
serts that are already set into the front of the post. 
This is where the Estate Series bracket will mount 
to.

2
Fasten the “Estate Bracket” to front of the Estate 
series post utilizing the (4) 3/4" x 1/4-20 bolts, and 
the preinstalled stainless steel inserts.

3
Attach the mailboxes to the newspaper tubes using 
the (4) 3/4" x 1/4-20 bolts and (4) nylock Nuts per 
box and tube.

4

Bring the complete mailbox/tube unit to the front of the 
post and line up the predrilled holes in the back of the 
newspaper tube with the (4) holes on the estate bracket. 
Fasten to the estate bracket using the (4) 1/2" x 1/4-20 
bolts and (4) nylock Nuts.

(If your mailbox does not use a newspaper tube, the 
estate bracket will fasten directly to the back of the 
mailbox using (4) predrilled holes.)

5

5-A.)  Attach the address scroll to the bottom of the 
newspaper tube using the provided 3/4" x 1/4-20 
bolt and (1) nylock Nut. The newspaper tube has a 
pre-drilled hole that is slotted for easy adjustment for 
height of the mailbox on the post.

(The Richmond and the Altair do not use an address 
scroll)
(If your mailbox does not use a newspaper tube, the 
scroll will attach directly to the bottom of the mailbox.)

5-B.)  Use the remaining (1) 3/4" x 1/4-20 bolt to at-
tach the bottom of the address scroll directly to the 
post. A threaded stainless steel insert is already in the 
post for this purpose.

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Port Hill N1023735

N1023720L Washington Post w/ 3" Support Pole 1

N1021786 1812 Mailbox 4

N1023719 Sunday Newspaper Tube 4

N1023802 Port Hill Bracket 2

N1025567 Port Hill Back Brace 1

N1023699 1812 Bracket 8

N1028064 3/4" Black Stainless Steel Bolt 40

N1028066 1-1/2" Black Stainless Steel Bolt 8

N1028067 Nut - Black Stainless Steel 44

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Morganton N1023789

N1023720L Washington Post w/ 3" Support Pole 2

N1021786 1812 Mailbox 6

N1023719 Sunday Newspaper Tube 6

N1021623 Address Plate - Black 6

N1023699 1812 Bracket 4

N1021101A Back Bracket 6

N1025583 Morganton Support Bracket 1

N1025929 Morganton End Bracket 2

N1028064 3/4" Black Stainless Steel Bolt 44

N1028063 1/2" Black Stainless Steel Bolt 16

N1028066 1-1/2" Black Stainless Steel Bolt 12

N1028067 Nut - Black Stainless Steel 72

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1812 Series The Carthage N1026033

N1023720 Washington Post 1

N1021786 1812 Mailbox 4

N1023719 Sunday Newspaper Tube 4

N1024983 1812 Quad Rail Kit 1

N1024981 Rail Kit Mounting Pole (55") 1

N1021623 Address Plates 4

N1028066 1-1/2" Black Stainless Steel Bolt 8

N1028064 3/4" Black Stainless Steel Bolt 24

N1028072 3-1/2" Black Stainless Steel Bolt 2

N1028067 Nut - Black Stainless Steel 34

Applicable to: Richmond, Baton Rouge, Altair,
Wilkes, Oakhill, Delta 

Figure 5-A Figure 5-B

mailbox 
 
 

bracket 
 
 

tube 

1812 Series

HARDWARE

HARDWARE

HARDWARE



Page 11 Page 201812-1022-REV 4 1812-1022-REV 4

Assembly Instructions For Morganton Mailbox

Tools Needed (not provided)

• 7/16" socket or adjustable wrench (7/16" socket is preferable)
• Phillips screw driver
• No Drilling is required (all necessary mounting holes have been pre-drilled at factory)
• All necessary hardware is provided (i.e. stainless steel Nuts & bolts)

1
Assemble the cross support by attaching the Morganton end 
brackets to each side of the Morganton support bracket using 
(2) 3/4" x 1/4-20 bolts and (2) nylock Nuts for each side.

2
Using (2) 1-1/2" x 1/4-20 bolts and (2) nylock Nuts, the (2) back 
brackets (C-shape) will wrap halfway around each Washington 
post, and attach to the previously assembled Morganton support 
bracket as shown.

3
Attach mailboxes to the newspaper tubes using the (4) 3/4" x 
1/4-20 bolts and (4) nylock Nuts per box. All necessary holes 
have been pre-drilled.

4

Line up the (4) pre-drilled holes at the bottom of each news-
paper tube with the pre-drilled holes on the horizontal support 
bracket. Attach the (4) center mailbox units to the horizontal 
support bracket using (4) 1/2" x 1/4-20 bolts and (4) nylock 
Nuts per tube.

5

Fasten (2) 1812 brackets (x in shape) to opposite sides of the 
newspaper tubes of the (2) remaining mailbox units. Use  the 
(4) 3/4" x 1/4-20 bolts and (4) nylock Nuts. Use the 4 existing 
pre-drilled holes. When finished, these brackets will wrap half 
way around the post where they will be attached to back brackets 
to hold them in place.

6
Using (2) back brackets (C-shape) and (4) 1-1/2" x 1/4-20 bolts 
attach mailbox unit to each post as shown. Placement should be 
directly above the previously installed Morganton brackets. This 
bracketing will support the (2) outermost mailbox units.

7

If your mailbox option uses address plates, these can now be 
attached using (2) 3/4" x 1/4-20 bolt and (2) nylock Nuts per 
address plate. At the bottom of each newspaper tube are two sets 
of pre-drilled holes allowing for assembly that is perpendicular 
to the direction of the newspaper tube.

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Birmingham N1019813
N1023720L Washington Post w/ 3" Support Pole 1
N1004695 Standard Size Rural Mailbox 1
N1020041 Colonial Newspaper Tube 1
N1021101A Back Bracket 1
N1020038 Front Mount Bracket 1
N1019748 Single Address Scroll 1
N1028066 1-1/2" Black Stainless Steel Bolt 2
N1028064 3/4" Black Stainless Steel Bolt 6
N1028067 Nut - Black Stainless Steel 7
N1028068 Threaded Insert 1

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Boulder (w/Scroll) N1026221
N1023720L Washington Post w/ 3" Support Pole 1
N1004695 Standard Size Rural Mailbox 2
N1020041 Colonial Newspaper Tube 2
N1020039A Double Front Mount Bracket 1
N1019748A Double Address Scroll 1
N102814b Tube Bracket for Boulder 1
N1021101A Back Bracket 1
N1023700 Cross Bracket For Boulder 1
N1023715 Spacer Tube 1
N1028064 3/4" Black Stainless Steel Bolt 8
N1028063 1/2" Black Stainless Steel Bolt 8
N1028067 Nut - Black Stainless Steel 18

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Carrington N1021788
N1023720L Washington Post w/ 3" Support Pole 1
N1004695 Standard Size Rural Mailbox 4
N1020041 Colonial Newspaper Tube 4
N1020948A Side Mount Bracket 2
N1023715 Spacer 1
N1022994 Carrington Support Brackets 4
N/A 2" Black Stainless Steel Bolt 3
N1021623 Address Plates 4
N1028064 3/4" Black Stainless Steel Bolt 36
N1028063 1/2" Black Stainless Steel Bolt 14
N1028067 Nut - Black Stainless Steel 38
N1028068 Threaded Insert 1

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Everette N1019805
N1023720 Washington Post 1
N1004697 Medium Size Rural Mailbox 4
N1026439 Universal Top Mount Post 1
N1023718 Acrylic Mounting Bracket 1
N1028064 3/4" Black Stainless Steel Bracket 4
N1028075 Black S/S 1" Self Tapping Screw 4
N1028067 Nut - Black Stainless Steel 4

Applicable to: Morganton 1812 

5413 5414   5415 5416 5417  5418 

Colonial Series

HARDWARE

HARDWARE

HARDWARE

HARDWARE



Page 21 Page 101812-1022-REV 41812-1022-REV 4

Assembly Instruction For Carrington Mailbox

Tools Needed (not provided)

• 7/16" socket or adjustable wrench (7/16" socket is preferable)
• Phillips screw driver
• No Drilling is required (all necessary mounting holes have been pre-drilled at factory)
• All necessary hardware is provided (i.e. stainless steel Nuts & bolts)

1
With the Washington Post securely mounted in the ground, locate the 
two side mount brackets, and attach them around the Washington Post 
using the provided (2) 2" x 1/4-20 bolts and (2) Nylock Nuts. Placement 
should settle just above preinstalled stainless steel threaded insert.

2 Assemble the Carrington support brackets (4 angle pieces) using the 
provided 3/4" x 1/4-20 bolts and nylock Nuts. See drawing for detail.

3 Attach the mailbox to the newspaper tube using the (4) 3/4" x 1/4-20 
bolts and (4) nylock Nuts per box.

4

Line up the holes at the bottom of the newspaper tubes with the holes 
of the Carrington support bracket. Attach (3) box/paper tube units to the 
assembled support bracket using the provided (4) 3/4" x 1/4-20 bolts 
and (4) nylock Nuts per unit. Either one of the middle units is not at-
tached yet to leave clearance for the entire unit to slip over the finial of 
the Washington post in the next step.

5
Place the Carrington bracket with (3) mailboxes & tubes so far, over the 
post as shown, and lower into line with preinstalled steel threaded insert 
on Washington post. Using (1) 2" x 1/4-20 bolts, attach the front frame 
of the Carrington bracket to the post.

6
Now the side mount brackets, which were attached to the Washington 
post in Step 1, need to be attached to the newspaper tubes. This is done 
using the existing holes on the newspaper tubes, and (2) 3/4" x 1/4-20 
bolts and (2) nylock Nuts for each bracket. Fasten & tighten into place.

7
Attach the last mailbox/tube unit to the Carrington support bracket utiliz-
ing the provided (4) 3/4" x 1/4-20 bolts & (4) nylock Nuts. (This is done 
the same way it was done in Step 4)

8

If your mailbox option uses address plates, these can now be attached 
using (2) 3/4" x 1/4-20 bolts and (2) nylock Nuts per address plate. Be-
low each newspaper tube, but not on the Carrington bracket, are (4) sets 
of predrilled holes allowing for the addition of the address plates. Attach 
using the provided (2) 3/4" x 1/4-20 bolts & (2) nylock Nuts per tube.

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Monroe N1025595/N1027437
N1023720L Washington Post w/ 3" Support Pole 1
N1004697 Medium Size Rural Mailbox 2
N1023719 Sunday Newspaper Tube 2
N1023699 1812 Bracket 4
N1021623 Address Plate - Black 2
N1028066 1-1/2" Black Stainless Steel Bolt 4
N1028064 3/4" Black Stainless Steel Bolt 8
N1028063 1/2" Black Stainless Steel Bolt 12
N1028067 Nut - Black Stainless Steel 24

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Rosedale N1026034
N1026046 5" D Fluted Aluminum Post 1
N1004697 Medium Size Rural Mailbox 1
N1023718 Acrylic Mounting Bracket 1
UMB Universal Mounting Bracket 1
N1028075 Black S/S 1" Self-Tapping Screw 4
N1028064 3/4" Black Stainless Steel Bolt 4
N1028067 Nut - Black Stainless Steel 4

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Salem N1019806
N1023720 Washington Post 1
N1004697 Medium Size Rural Mailbox 2
N1026439 Universal Top Mount Post 1
N1020954 Double Top Mount Bracket 1
N1028064 3/4" Black Stainless Steel Bolt 12
N1028067 Nut - Black Stainless Steel 12

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Sarasota N1019815
N1023720L Washington Post w/ 3" Support Pole 1
N1004695 Standard Size Rural Mailbox 2
N1020948A Side Mount Bracket 2
N1020041 Colonial Newspaper Tube 2
N1023715 Spacer 4
N1028066 1-1/2" Black Stainless Steel Bolt 6
N1028063 1/2" Black Stainless Steel Bolt 8
N1028067 Nut - Black Stainless Steel 14

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Tucson N1019809
N1023720L Washington Post w/ 3" Support Pole 1
N1004695 Standard Size Rural Mailbox 1
N1020041 Colonial Newspaper Tube 1
N1020038 Front Mount Bracket 1
N1021101A Back Bracket 1
N1023715 Spacer 1
N1028066 1-1/2" Black Stainless Steel Bolt 2
N1028063 Back Bracket 4
N1028067 Nut - Black Stainless Steel 6

Applicable to: Carrington ColonialColonial Series

HARDWARE

HARDWARE

HARDWARE

HARDWARE

HARDWARE



Page 9 Page 221812-1022-REV 4 1812-1022-REV 4

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Oak Ridge N1026035
N1026046 5 D" Fluted Aluminum Post 1
N1004697 Medium Size Rural Mailbox 1
N1023719 Sunday Newspaper Tube 1
UMB Universal Mounting Bracket 1
N1028067 Nut - Black Stainless Steel 8
N1028064 3/4" Black Stainless Steel Bolt 4
N1028063 1/2" Black Stainless Steel Bolt 4

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Eastport N1025292
N1023720L Washington Post w/ 3” Support Pole 1
N1004697 Medium Size Rural Mailbox 4
N1023719 Sunday Newspaper Tube 4
N1023699 1812 Bracket 8
N1023802 Port Hill Bracket 2
N1028064 3/4" Black Stainless Steel Bolt 40
N1028066 1-1/2" Black Stainless Steel Bolt 8
N1028067 Nut - Black Stainless Steel 44

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Weston N1026265
N1023720L Washington Post w/ 3” Support Pole 1
N1004697 Medium Size Rural Mailbox 1
N1023719 Sunday Newspaper Tube 1
N1019748 Single Address Scroll 1
N1028063 1812 Bracket 2
N1021101A Back Bracket 2
N1028067 Nut - Black Stainless Steel 13
N1028066 1-1/2" Black Stainless Steel Bolt 4
N1028063 1/2" Black Stainless Steel Bolt 8
N1028064 3/4" Black Stainless Steel Bolt 2
N1028068 Threaded Insert 1

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Washburn N1027935
N1023720 Washington Post 1
N1024980 1812 Triple Rail Kit 1
N1004697 Medium Size Rural Mailbox 3
N1024981 Rail Kit Mounting Pole (55") 1
N1023718 Acrylic Mounting Bracket 3
N1028064 3/4" Black Stainless Steel Bolt 12
N1028072 3-1/2" Black Stainless Steel Bolt 2
N1028065 1" Black Stainless Steel Bolt -
N1028067 Nut - Black Stainless Steel 14

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Colonial Series The Underwood N1027936
N1023720 Washington Post 1
N1024980 1812 Triple Rail Kit 1
N1004697 Medium Size Rural Mailbox 3
N1023719 Sunday Newspaper Tube 3
N1024981 Rail Kit Mounting Pole (60”) 1
N1028064 3/4" Black Stainless Steel Bolt 12
N1028063 1/2" Black Stainless Steel Bolt 12
N1028072 2-1/2" Black Stainless Steel Bolt 2
N1028067 Nut - Black Stainless Steel 26

Assembly Instructions For Quad Mount, (for Port Hill/Eastport/Visby)

Tools Needed (not provided)

• 7/16” socket or adjustable wrench (7/16” socket is preferable)
• Phillips screw driver
• No Drilling is required (all necessary mounting holes have been pre-drilled at factory)
• All necessary hardware is provided (i.e. stainless steel nuts & bolts)

1 Attach mailboxes to the newspaper tubes using the (4) 3/4” x 
1/4-20 bolts and (4) nylock Nuts per box.

2
Attach the (2) cast aluminum scroll brackets to the Washington 
Post using the (4) 1-1/2" bolts. Place the bolts through the (4) 
existing pre-drilled holes, each fitted with a steel threaded insert 
(2 holes per side).

3

Fasten the 1812 brackets (x in shape) to the side of the news-
paper tube utilizing the (4) 3/4” x 1/4-20 bolts and (4) nylock 
Nuts. Use the 4 existing pre-drilled holes. When finished, these 
brackets will wrap half way around the post where they will meet 
with the 1812 brackets from the second newspaper tube. This 
will make up the (2) inside box units closest to the Washington 
Post.

4
Similar to Step 3; Attach the 1812 brackets to the opposite side 
of the same newspaper tubes. This time the 1812 brackets will 
attach directly to the last set of newspaper tubes in the same 
manner.

5

Bring each of the (2) complete mailbox units up to the opposite 
side of the post, just above the previously installed scrolls, and 
fasten the two pairs of 1812 brackets to each other using the 
remaining (4) 1-1/2” x 1/4-20 bolts and (2) nylock Nuts. Adjust 
for height with scroll, and tighten into place.

7

If your mailbox option uses address plates, these can  
now be attached using (2) 1/2” x 1/4-20 bolt and (2) nylock 
Nuts per address plate. At the bottom of each newspaper  
tube are two sets of pre-drilled holes allowing for assembly  
that is perpendicular or parallel to the direction of the news-
paper tube.  Note: Newspaper tubes do not attach to Porthill 
brackets

Applicable to: Port Hill, Eastport, Visby

5413 

5413 

Colonial Series

HARDWARE

HARDWARE

HARDWARE

HARDWARE

HARDWARE



Page 23 Page 81812-1022-REV 41812-1022-REV 4

Assembly For Single Top Mount On Washington 
Post or Senator Post

Tools Needed (not provided)

• 7/16” socket or adjustable wrench (7/16” socket is preferable)
• Phillips screw driver
• No Drilling is required (all necessary mounting holes have been 
    pre-drilled at factory)
• All necessary hardware is provided (i.e. stainless steel nuts & bolts)

1
All above units use a 41/2" x 41/2" mounting plate which 
will arrive to customer already attached to the top of the cut 
Washington Post.

1
All above units use a Universal Mounting Bracket which 
will arrive to customer already attached to the top of the 
Senator Post.

2
If your mailbox style uses a newspaper tube, attach mail-
boxes to the newspaper tubes using the (4) 3/4” x 1/4-20 
bolts and (4) nylock Nuts per box.

2
If your mailbox style uses a newspaper tube, attach mail-
boxes to the newspaper tubes using the (4) 3/4”x 1/4-20 
bolts and (4) nylock Nuts per box.

3
Using the (4) pre-drilled holes on the bottom of the news-
paper tubes, attach the newspaper tube to the 41/2" x 41/2" 
mounting plate using the provided 1/2” x 1/4-20 bolts and 
matching nylock Nuts.

3
Using the (4) pre-drilled holes on the bottom of the news-
paper tubes, attach the newspaper tube to the 41/2" x 41/2" 
bracket using the provided 1/2” x 1/4-20 bolts and match-
ing nylock Nuts.

4

In case of the Everette:
A black acrylic bracket will be provided with (4) pre-drilled 
holes. Align with holes on the 41/2" x 41/2" mounting plate 
and fasten tight, using the provided 3/4” x 1/4-20 bolts and 
matching nylock Nuts.

4

In case of the Rosedale:
A black acrylic bracket will be provided with (4) pre-drilled 
holes. Align with holes on the 41/2" x 41/2" bracket and 
fasten tight, using the provided 3/4” x 1/4-20 bolts and 
matching nylock Nuts.

5
Once the acrylic bracket is secure to the mounting plate, place 
the rural mailbox atop the bracket. Using the (4) self tapping 
phillips screws, fasten through the mounting holes on the 
side of the rural mailbox directly into the acrylic bracket.

5

Once the acrylic bracket is secure to the mounting plate, 
place the rural mailbox atop the bracket. Using the (4) 
self tapping phillips screws, fasten through the mounting  
holes on the side of the rural mailbox directly into the 
acrylic bracket.

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1092 Series The Donan N1026020

N1023720L Washington Post w/ 3" Support Pole 1

N1026045 1092 Mailbox 1

N1026241 1092 Newspaper Tube 1

N1021101A Back Bracket 2

N1023699 1812 Bracket 2

N1019748 Single Address Scroll 1

N1028066 1-1/2" Black Stainless Steel Bolt 4

N1028064 3/4" Black Stainless Steel Bolt 6

N1028063 1/2" Black Stainless Steel Bolt 4

N1028067 Nut - Black Stainless Steel 13

N1028068 Threaded Insert 1

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1092 Series The Norwich N1026014

N1023720 Washington Post 1

N1026045 1092 Mailbox 1

N1026439 Universal Top Mount Post 1

UMB Universal Mounting Bracket 1

N1028064 3/4" Black Stainless Steel Bolt 4

N1028067 Nut - Black Stainless Steel 4

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1092 Series The Warwick N1016021

N1023720L Washington Post w/ 3" Support Pole 1

N1026045 1092 Mailbox 2

N1026241 1092 Newspaper Tube 2

N1023699 1812 Bracket 4

1/2 SCROLL 1/2 Scroll Support Bar 2

N1028066 1-1/2" Black Stainless Steel Bolt 4

N1028064 3/4" Black Stainless Steel Bolt 12

N1028063 1/2" Black Stainless Steel Bolt 8

N1028067 Nut - Black Stainless Steel 22

N1028068 Threaded Insert 2

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1092 Series The Durham N1026013

N1026046 5"D Fluted Aluminum Post 1

N1026045 1092 Mailbox 1

UMB Universal Mounting Bracket 1

N1028075 Black S/S 1" Self-Tapping Screw 4

N1028064 3/4" Black Stainless Steel Bolt 4

N1028067 Nut - Black Stainless Steel 4

Applicable to: Everette, Rosedale, Oakridge, New Hampton,  
Newport, Brunswick, Bailey, Norwich, Wilton, Durham

1092 Series

HARDWARE

HARDWARE

HARDWARE

HARDWARE

Everette, Newport, New Hampton,  
Bailey, Norwich

Rosedale, Oakridge. Durham, Wilton



Page 7 Page 241812-1022-REV 4 1812-1022-REV 4

Assembly Instructions For Top Mount Rail Options (double, triple, and quad)

Tools Needed (not provided)

• 7/16” socket or adjustable wrench (7/16” socket is preferable)
• Phillips screw driver
• No Drilling is required (all necessary mounting holes have been pre-drilled at factory)
• All necessary hardware is provided (i.e. stainless steel Nuts & bolts)

1
With the post securely mounted into the ground with con-
crete, place the horizontal rail onto the post. When done 
correctly, the (2) predrilled mounting holes will line up 
perfectly.

2 Attach the rail to the post using the provided (2) 3-1/2” x 
1/4 -20 stainless steel bolts and (2) nylock Nuts.

3
Attach mailboxes to the newspaper tubes using the (4) 
3/4” x 1/4-20 bolts and (4) nylock Nuts per box. If your 
mailbox style does not use newspaper tubes, skip ahead 
to step 4.

4

4-A.) Using (4) 3/4” x 1/4-20 screws and (4) nylock Nuts, 
attach the newspaper tubes directly to the horizontal rail. 
If your mailbox style does not use newspaper tubes, use 
the bolts to attach directly to the horizontal rail through the 
predrilled holes in the mailbox.

4-B.) If your mailbox style uses medium size rural mail-
boxes, acrylic mounting plates will be provided instead. 
Using self-tapping screws, attach mailboxes to these 
plates before next step.

5
At this time, if optional address plates were ordered they 
can be installed to the rail below each mailbox or tube 
using the predrilled holes and (2) 3/4” x 1/4-20 bolts & 
(2) nylock Nuts.

Applicable to: Washburn, Underwood, Salem, Montgomery, Buckhorn, Wales,
Park Ridge, Greenville, Sutherland, Carthage, Glastonbury, Canterbury 

Figure 4-A Figure 4-B

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1092 Series The Bailey N1026018

N1023720 Washington Post 1

N1026241 1092 Newspaper Tube 1

N1026045 1092 Mailbox 1

N1026439 Universal Top Mount Post 1

N1028064 3/4" Black Stainless Steel Bolt 4

N1028063 1/2" Black Stainless Steel Bolt 4

N1028067 Nut - Black Stainless Steel 8

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1092 Series The Wilton N1026019

N1026046 1/2"D Fluted Aluminum Post 1

N1026045 1092 Mailbox 1

N1026241 1092 Newspaper Tube 1

    UMB Universal Mounting Bracket 1

N1028064 3/4" Black Stainless Steel Bolt 4

N1028063 1/2" Black Stainless Steel Bolt 4

N1028067 Nut - Black Stainless Steel 10

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1092 Series The Wales N1026015

N1023720 Washington Post 1

N1026045 1092 Newspaper Tube 2

N1026241 1092 Mailbox 2

N1024981 Rail Kit Mounting Pole(60") 1

N1027983 1092 Double Rail Kit 1

N1021101A 3/4" Black Stainless Steel Bolt 12

N1028066 1-1/2" Black Stainless Steel Bolt 4

N1028072 3-1/2" Black Stainles Steel Bolt 2

N1028067 Nut - Black Stainless Steel 18

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

1092 Series The Canterbury N1026017

N1023720 Washington Post 1

N1026045 1092 Newspaper Tube 4

N1026241 1092 Mailbox 4

N1027981 1092 Quad Rail Kit 1

N1024981 Rail Kit Mounting Pole (55") 1

N1028064 3/4" Black Stainless Steel Bolt 32

N1028066 1-1/2" Black Stainless Steel Bolt 8

N1028072 3-1/2" Black Stainless Steel Bolt 2
N1028067 Nut - Black Stainless Steel 34

1092 Series

HARDWARE

HARDWARE

HARDWARE

HARDWARE



Page 25 Page 61812-1022-REV 41812-1022-REV 4

Applicable to: Monroe, Tallahasse, Columbus, Port Angeles,
Warwick, Camrose, Riverside

Tools Needed (not provided)

• 7/16” socket or adjustable wrench (7/16” socket is preferable)
• Phillips screw driver
• No Drilling is required (all necessary mounting holes have been pre-drilled at factory)
• All necessary hardware is provided (i.e. stainless steel Nuts & bolts)

Assembly Instructions For Double Side Mount, Full Post Option

Attach mailboxes to the newspaper tubes using the (4) 3/4” 
x 1/4-20 bolts and (4) nylock Nuts per box. If your mailbox 
style does not use newspaper tubes, skip ahead to the next 
step.

Fasten the 1812 brackets (X in shape) to the back of the 
newspaper tube utilizing the (4) 1/2” x 1/4-20 bolts & (4) 
nylock Nuts. Use the (4) existing predrilled holes. When 
finished, these brackets will wrap half way around the post 
where they will meet with the 1812 brackets from the 2nd 
newspaper tube.

If your mailbox does not use newspaper tubes, the 1812 
brackets (X in shape) will attach with (4) predrilled holes 
directly to the side of the 1812 mailbox.
(The Tallahasse option does not use a newspaper tube) 

Bring each of the (2) complete mailbox units up to the op-
posite side of the post and fasten the two pairs of 1812 
brackets to each other using the remaining (4) 1-1/2” x 
1/4-20 bolts and (2) nylock Nuts. Adjust for height, and 
tighten into place.

If your mailbox uses address plates, these can now be at-
tached using (2) 1/2” x 1/4-20 bolts and (2) nylock Nuts per 
address plate. At the bottom of each newspaper tube are two 
sets of predrilled holes allowing for an assembly that is per-
pendicular or parallel to the direction of the newspaper tube. 

1

2

4

5

3 4

3

5413 

5413 

GROUP
COMPONENT 

MODEL # COMPONENT DESCRIPTION
QUANTITY  

PER ASSEMBLY

1092 Series The Visby N1026022

N1023820L Washington Post w/ 3" Support Pole 1

N1026045 1092 Mailbox 4

N1026241 1092 Newspaper Tube 4

N1023802 Port Hill Bracket 2

N1028064 3/4" Black Stainless Steel Bolt 40

N1028066 1-1/2" Black Stainless Steel Bolt 8

N1028067 Nut - Black Stainless Steel 44

GROUP
COMPONENT 

MODEL # COMPONENT DESCRIPTION
QUANTITY  

PER ASSEMBLY

1092 Series The Camrose N1026023

N1027535 French Courtyard Post - Black #115 1

N1026045 1092 Mailbox 2

N1026241 1092 Newspaper Tube 2

N1025065 Carriage Light w/ Beveled Glass, 120 V, Bl 1

N1023699 1812 Bracket 4

N1028066 1-1/2" Black Stainless Steel Bolt 4

N1028063 1/2" Black Stainless Steel Bolt 8

N1028064 3/4" Black Stainless Steel Bolt 8

N1028067 Nut - Black Stainless Steel 20

GROUP
COMPONENT 

MODEL # COMPONENT DESCRIPTION
QUANTITY  

PER ASSEMBLY

1092 Series The Nevern N1026024

N1027535 French Courtyard Post - Black #115 1

N1026045 1092 Mailbox 1

N1024982 1092 Newspaper Tube 1

N1023699 1812 Bracket 2

N1021101A Back Bracket 2

N1025065 Carriage Light w /Beveled Glass, 120V, Bl 1

N1028066 1-1/2" Black Stainless Steel Bolt 4

N1028064 3/4" Black Stainless Steel Bolt 4

N1028063 1/2" Black Stainless Steel Bolt 4

N1028067 Nut - Black Stainless Steel 12

GROUP
COMPONENT 

MODEL # COMPONENT DESCRIPTION
QUANTITY  

PER ASSEMBLY

1092 Series Glastonbury N1028186

N1023720 Washington Post 1

N1024981 Rail Kit Mounting Pole (55") 1

N1027982 1092 Triple Rail Kit 1

N1026045 1092 Mailbox 3

N1026241 1092 Tube 3

N1028066 1-1/2" Black Stainless Steel Bolt 6

N1028064 3/4" Black Stainless Steel Bolt 18

N1028072 3-1/2" Black Stainless Steel Bolt 2

N1028067 Nut - Black Stainless Steel 26

HARDWARE

HARDWARE

HARDWARE

HARDWARE

1092 Series



Page 5 Page 261812-1022-REV 4 1812-1022-REV 4

Applicable to: Weston, Augusta, Cape Charles, Beaumont,
 Donan, Alderbury, Nevern 

Tools Needed (not provided)

• 7/16” socket or adjustable wrench (7/16” socket is preferable)
• Phillips screw driver
• No Drilling is required (all necessary mounting holes have been pre-drilled at factory)
• All necessary hardware is provided (i.e. stainless steel Nuts & bolts)

Assembly Instructions For Single Front Mount, Full Post Option

Attach the mailbox to the newspaper tube using the (4) 
3/4” x 1/4-20 bolts and (4) nylock Nuts per box. If your 
mailbox style does not use newspaper tubes, skip ahead 
to the next step.

Fasten the 1812 brackets (X in shape) to the back of the 
newspaper tube utilizing the (4) 1/2” x 1/4-20 bolts & (4) 
nylock Nuts. Use the (4) existing predrilled holes. When 
finished, these brackets will wrap half way around the post. 
If your mailbox option does not use a newspaper tube, the 
1812 brackets (X in shape) will attach with (4) predrilled 
holes on the back of the 1812 mailbox.

(The Cape Charles option does not use a newspaper tube).

3-A.) Attach (1) back bracket to one side of each of the (2) 
1812 (X shape) brackets using (2) 1-1/2” x 1/4 - 20 bolts 
and (2) nylock Nuts.

3-B.) Bring the entire mailbox unit to the front of the post 
and fasten the other side of the brackets around the post and 
to each of the 1812 brackets using the remaining (2) 1-1/2” 
x 1/4-20 bolts and (2) nylock Nuts.

4-A.) Attach the address scroll to the bottom of the news-
paper tube using the provided 3/4” x 1/4-20 bolt and (1) 
nylock Nut. The newspaper tube has a predrilled hole that 
is slotted for easy adjustment for height of the mailbox on 
the post.

(The Augusta and the Nevern do not use an address scroll).

4-B.) Use the remaining (1) 3/4” x 1/4-20 bolt to attach the 
bottom of the address scroll directly to the post. A threaded 
stainless steel insert is already in the post for this purpose.

(The Augusta and the Nevern do not use an address scroll).

1

2

3

4

Figure 3-A Figure 3-B

Figure 4-A Figure 4-B

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Estate Series The Brunswick N1025904

N1025892 Estate Series Post - 84" (7") - Black 1

N1021786 1812 Mailbox 1

N1025896 Estate Series Aluminum Post Skirt 1

N1028071 Rosedale Bracket 1

N1028064 3/4" Black Stainless Steel Bolt 4

N1028067 Nut - Black Stainless Steel 4

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Estate Series The Richmond N1025903
N1025892 Estate Series Post - 84" (7") - Black 1
N1021786 1812 Mailbox 1
N1026753 Estate Series Bracket 1
N1019748 Single Address Scroll 1
N1025897 Pyramid Post Top for Estate 1
N1025896 Estate Series Aluminum Post Skirt 1
N1028064 3/4" Black Stainless Steel Bolt 6
N1028063 1/2" Black Stainless Steel Bolt 4
N1028067 Nut - Black Stainless Steel 5
N1028068 Stainless Steel Threaded Inserts 5

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Estate Series The Baton Rouge N1025899
N1025892 Estate Series Post - 84" (7") - Black 1
N1021786 1812 Mailbox 1
N1023719 Sunday Newspaper Tube 1
N1026753 Estate Series Bracket 1
N1019748 Single Address Scroll 1
N1025897 Pyramid Post Top for Estate 1
N1025896 Estate Series Aluminum Post Skirt 1
N1028064 3/4" Black Stainless Steel Bolt 6
N1028063 1/2" Black Stainless Steel Bolt 8
N1028067 Nut - Black Stainless Steel 9
N1028068 Stainless Steel Threaded Inserts 5

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Estate Series The Altair N1025902
N1025892 Estate Series Post - 84" (7") - Black 1
N1021786 1812 Mailbox 1
N1026753 Estate Series Bracket 1
N1019748 Single Address Scroll 1
N1025894 Estate Series Deck Light 1
N1025896 Estate Series Aluminum Post Skirt 1
N1028068 Stainless Steel Threaded Inserts 5
N1028067 Nut - Black Stainless Steel 5
N1028063 3/4" Black Stainless Steel Bolt 4
N1028064 1/2" Black Stainless Steel Bolt 6

HARDWARE

HARDWARE

HARDWARE

HARDWARE

Estate Series



Page 27 Page 41812-1022-REV 41812-1022-REV 4

Before Any Installation	
	 • WARNING:  Check with local utility companies and Diggers Hotline for location of underground 
	      utility lines (electrical, gas, water, etc.)	
	 • CHECK with your local postal authority for location and placement of mailbox posts.	
	 • Requires:  Customer supplied mounting bolts
	                     Customer is responsible for concrete pad

Optional Surface Mount Upgrade For Washington Post

The surface mount option was designed with the property developer in mind.  With this upgrade, the concrete 
pads can be poured by the development’s mason at the time the driveways and patios are being poured.  
When the concrete pad is poured, (4) bolts are placed into the wet concrete with threads exposed (see 
bolt placement dimensions below).  When you are ready to install your mailbox, simply place the fully  
assembled post over the (4) bolt threads, and spin on the lock Nuts.  Your post installation is complete. 

20”

17

20”

17

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Estate Series The Wilkes N1025898
N1025892 Estate Series Post - 84" (7") - Black 1
N1021786 1812 Mailbox 1
N1023719 Sunday Newspaper Tube 1
N1026753 Estate Series Bracket 1
N1019748 Single Address Scroll 1
N1025894 Estate Series Deck Light 1
N1025896 Aluminum Post Skirt 1
N1020039A Stainless Steel Threaded Inserts 5
N1028067 Nut - Black Stainless Steel 9
N1028063 1/2" Black Stainless Steel Bolt 4
N1028064 3/4" Black Stainless Steel Bolt 10

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Estate Series The Dixon N1025901
N1025892 Estate Series Post - 84" (7") - Black 1
N1021786 1812 Mailbox 2
N1023719 Sunday Newspaper Tube 2
N1026753 Estate Series Bracket 2
N1025897 Pyramid Post Top For Estate 1
N1025896 Estate Series Aluminum Post Skirt 1
N1028064 1/2" Black Stainless Steel Bolt 15
N1028063 3/4" Black Stainless Steel Bolt 8
N1028067 Nut - Black Stainless Steel 16
N1028068 Stainless Steel Threaded Inserts 8

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Estate Series The Abbot N1025900
N1025892 Estate Series Post - 84" (7") - Black 1
N1021786 1812 Mailbox 2
N1023719 Sunday Newspaper Tube 2
N1026753 Estate Series Bracket 2
N1025894 Estate Series Deck Light 1
N1025896 Estate Series Aluminum Post Skirt 1
N1028063 1/2" Black Stainless Steel Bolt 8
N1028064 3/4" Black Stainless Steel Bolt 16
N1028068 Stainless Steel Threaded Inserts 8
N1028067 Nut - Black Stainless Steel 16

GROUP
COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Estate Series The Oak Hill N1025906
N1025892 Estate Series Post - 84" (7") - Black 1
N1004697 Medium Rural Mailbox 1
N1023719 Sunday Newspaper Tube 1
N1026753 Estate Series Bracket 1
N1019748 Single Address Scroll 1
N1025897 Pyramid Post Top For Estate 1
N1025896 Estate Series Aluminum Post Skirt 1
N1028068 Stainless Steel Threaded Inserts 5
N1028063 1/2" Black Stainless Steel Bolt 8
N1028064 3/4" Black Stainless Steel Bolt 6
N1028067 Nut - Black Stainless Steel 9

HARDWARE

HARDWARE

HARDWARE

HARDWARE

Estate Series

Pad bolt dimensions



Page 3 Page 281812-1022-REV 41812-1022-REV 4

*** This installation procedure pertains to all models of Washington, Estate, and Senator 
posts that require direct burial installation.

Items Needed: (not included)
	 • (2-3) 20 lb. bags of ready mix concrete per post
	 • (1) Strap Level (can be purchased at any hardware store for approximately 2-3 dollars)
	 • (1) Shovel (spade) or auger
	 • (1) Sturdy stick to stir concrete
	 • (*) Approximately (1) gallon of water per 20 lb. bag of ready mix concrete (see concrete
		  mfg. instructions)

Before Installation:
*** WARNING: Check with local utility companies for location of underground utility lines
      (electrical, gas, water, etc).
*** CHECK with your local postal authority for location and placement of mailbox posts.

(STEP 1) Dig your hole approximately 13"W x 30"D, being certain to dig below frost line (frost line depth may vary 
with geographic soil conditions). Insert Washington post into hole periodically to test the depth in relation to the base 
of the post. 

(STEP 2) Loosen wing nut. Remove bolt and wing nut from bottom. Remove Inner steel post and flip over. Insert back 
into outer steel post. Reattach bolt and tighten wing nut to keep together.

(STEP 3) Pour concrete into hole and insert post. Push the post into the concrete so plastic base is submerged 1/2" 
- 1 inch.

(STEP 4) With Washington/Estate/Senator Post placed inside hole, use strap leel to verify post is plumb and wait for 
concrete to set per concrete manufacturing instructions.

(STEP 5) Wipe excess concrete away from post areas with water and a towel/rag.

Installation:

In-Ground Installation of Washington/Estate/Senator Post
GROUP SEQ

COMPONENT 
MODEL # COMPONENT DESCRIPTION

QUANTITY  
PER ASSEMBLY

Estate Series The Delta N1025905
43 N1025892 Estate Series Post - 84" (7") - Black 1
53 N1004697 Medium Size Rural Mailbox 1
18 N1023719 Sunday Newspaper Tube 1
28 N1026753 Estate Series Bracket 1
15 N1019748 Single Address Scroll 1
38 N1025894 Estate Series Deck Light 1
44 N1025896 Estate Series Aluminum Post Skirt 1
31 N1028063 1/2" Black Stainless Steel Bolt 8
32 N1028064 3/4" Black Stainless Steel Bolt 6
57 N1028068 Stainless Steel Threaded Inserts 5
36 N1028067 Nut - Black Stainless Steel 9

GROUP SEQ
COMPONENT 

MODEL # COMPONENT DESCRIPTION
QUANTITY  

PER ASSEMBLY

Estate Series The Porterfield N1025908
43 N1025892 Estate Series Post - 84" (7") - Black 1
53 N1004697 Medium Size Rural Mailbox 2
18 N1023719 Sunday Newspaper Tube 2
28 N1026753 Estate Series Bracket 2
39 N1025897 Pyramid Post Top for Estate 1
44 N1025896 Estate Series Aluminum Post Skirt 1
57 N1028068 Stainless Steel Threaded Inserts 8
32 N1028064 1/2" Black Stainless Steel Bolt 16
31 N1028063 3/4" Black Stainless Steel Bolt 8
36 N1028067 Nut - Black Stainless Steel 16

GROUP SEQ
COMPONENT 

MODEL # COMPONENT DESCRIPTION
QUANTITY  

PER ASSEMBLY

Estate Series The Lawrence N1025907
43 N1025892 Estate Series Post - 84" (7") - Black 1
53 N1004697 Medium Size Rural Mailbox 2
18 N1023719 Sunday Newspaper Tube 2
28 N1026753 Estate Series Bracket 2
38 N1025894 Estate Series Deck Light 1
44 N1025896 Estate Series Aluminum Post Skirt 1
31 N1028063 1/2" Black Stainless Steel Bolt 8
36 N1028067 Nut - Black Stainless Steel 16
32 N1028064 3/4" Black Stainless Steel Bolt 16
57 N1028068 Stainless Steel Threaded Inserts 8

HARDWARE

HARDWARE

HARDWARE

Estate Series



Page 29 Page 21812-1022-REV 41812-1022-REV 4

Contents

Post Installation Instructions	 Page

Direct Burial Installation of Washington / Estate / Senator Post................................................... 3

Surface Mount Installation Upgrade for Washington Post............................................................ 4

Front Mount / Full Post Option ......................................1812 / 1092 / Colonial ......................... 5

Side Mount / Full Post Option ........................................1812 / 1092 / Colonial ......................... 6

Top Mount Rail Kit ..........................................................1812 / 1092 / Colonial ..........................7

Top Mount Single .......................................................... 1812 / 1092 / Colonial ..........................8

The Quad Mount ........................................................... 1812 / 1092 Series Only ........................9

The Carrington ................................................................. Colonial Series Only .........................10

The Morganton .................................................................. 1812 Series Only ............................11

Front Mount Estate ............................................................. Estate Series Only ..........................12

Side Mount Estate .............................................................. Estate Series Only ...........................13

Installation of Carriage Light ......................................... 1812 / 1092 /  Colonial........................14

Complete Component Listings Per Mailbox Option............................................................. 15 - 28

Limited Warranty Information ..................................................................................................... 29

Assembly Instructions Applicable to:

Postal Products Unlimited, Inc. products are guaranteed in material and workmanship to the original 
purchaser for a period of one year from the date of product shipment. 
Postal Products Unlimited’s obligations under this warranty are expressly limited to the repair or replace-
ment of any unit or component part, which is at the sole discretion of Postal Products Unlimited. All 
products must be returned to Postal Products Unlimited at the customer’s expense with prior authorization 
from Postal Products Unlimited. Postal Products Unlimited’s obligation shall in no event 
include damage resulting from transportation, mishandling, neglect, misuse, acts of nature or vandalism.

* Improper installation will void this warranty.

LIMITED WARRANTY

Postal Products Unlimited, Inc.
500 West Oklahoma Ave.*  Milwaukee, WI 53207-2649

info@postalproducts.com / www.mailproducts.com
Phone: 800-229-4500  *  Fax: 800-570-0007

MAINTENANCE:

Product is not maintenance free.  

Regarding steel-based product:  Cracks in the paint, salt spray, road salt, and excessive UV rays could 
cause corrosion or deterioration of tubes, scrolls, brackets, etc.

Extended life components are available (stainless steel), but are a separate purchase.  However, sun, 
weather, road chemicals etc, still adversely affect plastic, finish, and materials of extended life components.

It is the purchaser’s responsibility to regularly inspect the mailbox system for deterioration of components, 
finishes or hardware. Treat product or replace components immediately upon noticing deterioration or 
damage.  All components are available for sale directly from factory or authorized distributor.

Surfaces with corrosion can be treated with rust inhibiting paint.  Corrosion should be removed with steel 
wool and surface treated before painting.  

Replace hardware when finish deteriorates.  Hardware can be treated with silicone spray or lubricant to 
combat corrosion issues.  Hardware and components that are not replaced when deterioration occurs can 
cause additional oxidational discoloration of other components. 



Page 1 Page 301812-1022-REV 41812-1022-REV 4

Congratulations on your purchase of a
Colonial/1812/1092/Estate mailbox system.

Upon receiving your order, please inspect your merchandise for potential freight damage or missing parts. 
Using the component pages in this manual, double check to ensure that you have everything that you are 
supposed to have. If you are missing anything, please call our customer service department immediately at 
800-229-4500.

This user manual cover installation and assembly instructions for the following proprietary product lines of 
Postal Products Unlimited.

• 1812 Series

• Colonial Series

• 1092 Series

• Estate Series

The 1812 & 1092 mailboxes, as well as the Washington style posts are made from rotationally molded 
plastic with UV inhibitors to prevent color fading.

Each newspaper tube and all bracketing is made from galvanized steel that is powder coated to a smooth, 
semi-gloss finish.

Hardware included, such as the lock nuts, bolts, and threaded inserts are made of stainless steel or               
aluminum, treated with a rust resistant finish.

For full size drawings, photos, and detailed product information, visit our website at:

www.mailproducts.com

We also carry United States Postal Service approved 4-C mailboxes and the new F-Spec C.B.U., as 
well as a full selection of residential and commercial mailboxes. For custom or quantity quotations, 
or to reach our skilled customer service team please call us at: 800-229-4500.

FREIGHT DAMAGE

Damaged or lost merchandise claims must be filed with the carrier within 10 days of receipt of 
goods. Once the product leaves any of our warehouses it becomes property of the customer. Please 
follow these steps when receiving products.

1. Check your piece counts. If you are short a product or package, be sure to list it 
	 on the carriers delivery receipt.

2. Give a detailed inspection for damage. If the carton even appears to be damaged 
	 anywhere, make sure to open and inspect goods thoroughly. If there is damage, 
	 note it on the delivery receipt and call our customer service department
	 immediately.

RETURNS

No returns will be accepted without a return authorization #. Please call our customer service depart-
ment with return request. If the product shipped is the product ordered, we may request a restock-
ing fee up to 50%. Some custom products are not returnable. All returns must be shipped back at 
customer’s expense unless otherwise agreed upon.

Postal Products Unlimited, Inc.
500 W. Oklahoma, Ave.

Milwaukee, WI 53207-2649

Phone: 800-229-4500
Local Phone: 414-290-1500

Fax: 800-570-0007
Local Fax: 414-290-1515

www.mailproducts.com



1812-1022-REV 41812-1022-REV 4

Postal Products Unlimited, Inc. 
Also Manufactures Cluster Box Units and

4C Standard Horizontal Mailboxes

Free standard shipping on orders over $5,000 in the Continental USA.
Call Paul Orta direct at 414-290-1067 for product & design assistance.

Colonial,1812, Estate, & 1092 Mailbox Line

N1021784M___The Augusta
N1019813M___The Birmingham
N1026020M___The Donan
N1025904M___The Brunswick
N1021785M___The Beaumont
N1026221___The Boulder
N1026014___The Norwich
N1025903___The Richmond
N1021781___The Riverside
N1021788___The Carrington
N1026021___The Warwick
N1025899___The Baton Rouge
N1021954___The Somerset
N1019805___The Everette
N1026013___The Durham
N1025902___The Altair
N1021783___The Cape Charles
N1025595___The Monroe
N1026018___The Bailey
N1025898___The Wilkes

N1021777___The Longmont
N1026034___The Rosedale
N1026019___The Wilton
N1025901___The Dixon
N1021778___The Tallahasse
N1019806___The Salem
N1026015___The Wales
N1025900___The Abbot
N1021955___The Port Angeles
N1019815___The Sarasota
N1026017___The Caterbury
N1025906___The Oak Hill
N1021782a__The Columbus
N1019809___The Tuscon
N1026022___The Visby
N1025905___The Delta
N1021775___The New Hampton
N1026035___The Oakridge
N1028186___The Glastonbury
N1025908___Potterfield

N1021776___The Montgomery
N1025292___The Eastport
N1026025___The Alderbury
N1025907___The Lawrence
N1024986___The Park Ridge
N1026265___The Westport
N1026024___The Nevern
N1025909___Estate Post
N1024987___The Sutherland
N1027935___The Washburn
N1026023___The Camrose
N1023734___The Newport
N1027936___The Underwood
N1024984___The Buckhorn
N1027936___The Underwood
N1024985___The Greensville
N1027935___The Washburn
N1026033___The Carthage
N1023735___The Port Hill
N1023789___The Morganton

500 West Oklahoma Ave.
Milwaukee, WI 53207-2649
info@postalproducts.com
www.mailproducts.com
Phone: 800-229-4500
Fax: 800-570-0007

INSTALLATION &
ASSEMBLY MANUAL

N1011007
4B+ Horizontal Mailbox

(23 Door)

N1029415
4C Horizontal Mailbox

(20 Door)

N1029595
Type II CBU with Pedestal

(12 Door)

Call us for a free Mailbox and Postal 
Specialties catalog, or view on line at 

www.mailproducts.com


	Untitled

